S ' AN jrir- _ 6
6 113&; < ¢ &Wﬁﬁm% e ==> R6
1 NS: HtE28E =& GHO) 15 14 NS: ;Kﬂﬁiﬂ ’PHEE(F:BC) -6 VP:| 8.15 11.85| Total VP: 58.74 Rank:
EW: &l EFIBEAC) 6 EW: SRZE% 25 (H0) 15 IMP:| 13 18 10
S — —
# 21 » Q7 4CN4 130 Mean: 3CN5 150 4.0 1 [[# 22 s A 5CN6 420 Mean: 5HXS5 650 11.0 1
v Q7 1NN2120 10  4SE-2 100 3.0 1 v QT87 5SE-2200 100 5CXN6 650 11.0 2
+ AQ64 Dif: 10 NS:3 4CN4 130 3.0 2 *2 Dif: 220 NS:8 5CXN5 550 100 2
& AK982 IMP: 0 EW:-3 3CS3 110 3.0 2 & AKJ8742 IMP: 6 EW:-3 5SXE-2 500 9.0 1
s KJ #» AT632 3CN4 130 3.0 2 ||a K982 & T76543 5CN6 420 8.0 1
v JT9632 v A5 1NN2 120 3.0 2 [|w J2 — v A93 5CN5 400 7.0 1
¢ JT93 | + K852 2SE-1 50 1.0 1 ||e AKJ954 ¢+ Q3 5SE-2 200 30 1
*J » Q7 2SE2 110 30 1 ||a3 » Q5 5SE-1 100 00 2
% ¢ VAN 49854 3DE4 130 -40 1 *eVAN ,QJ 4SE-1 100 00 1
N 3~~~2 9vK84 2HW3 140 -40 2 |IN 5~ 4 ~ ~ « K654 5HXS-1 100 -5.0 1
S 3 ~~~~ o7 2DW4 130 -40 1||S 5~4~~ ¢ T876 6CXN-2 300 9.0 1
E ~321~ &T6543 3NN-2 200 50 1||E ~4~4~ &T96 4SE4 620 120 1
W ~321~ 3HW4 470 50 1 ||W ~4 ~4 ~ 5SW5 650 -13.0 2
4SW5 650 -13.0 1
# 23 o A9765 3CW3 -110 Mean: 3NW-2 200 50 2 ||#24 » J43 1NW-1 50 Mean: 4CXN4 510 8.0 1
v K3 3NW-1100 o0 3NW-1 100 3.0 8 v KQ975 3NS3400 170 3NS4 430 6.0 1
+ K7532 Dif: -210 NS:-3 3NE-1 100 3.0 1 . Dif: -350 NS:-3 3NS3 400 6.0 3
&2 IMP: -5 EW:-3 3CW-1 100 3.0 1 & QJT62 IMP: -8 EW:-6 2SS4 170 00 1
» KQ83 a 42 3CE-1 100 3.0 1 ||a AQ72 ~ 65 4CN4 130 1.0 1
v AJT2 + v 54 3cws 110 3.0 3 || J642 v 783 csa 130 40 1
+ A6 * QJ94 3NW3 600 -12.0 2 ||e ATS ¢ QJ943 3CN4 130 1.0 1
& 743 S » AKJ85 a A7 543 2HN3 140 1.0 1
S VAN \JT %o VAN 4 KT8 3CN3 110 20 3
N ~~~~~ v Q9876 N 3~~319vA 3DW-1 50 3.0 1
S ~~n~~~ oT8 S 3 ~~31 ¢ K7652 INW-1 50 3.0 2
E 2~~~2 &QT9 E ~1~~~ &K98 3NS-1 50 6.0 1
W 2~~~2 W ~1~~~ 3NN-1 50 6.0 1
# 25 s QJT4 1SN2 110 Mean: 3SN3 140 2.0 1 [|# 26 s 72 6SW6 -1430 Mean: 7SW-1 100 140 1
v Q95 2SN2110 80  2SN3 140 20 2 v J9653 6SW6 -1430 -880 6SW-1 100 140 2
+ A865 Dif: 0 NS:1 2SS2 110 1.0 3 * AT7 Dif: 0 NS:-11 6NE-2 200 14.0 1
»T6 IMP: 0 EW:-1 2SN2 110 1.0 4 » T82 IMP: 0 EW:11 2DE-1 100 140 1
» K87 53 1SN2 110 1.0 3 ||a AKJT9863 a5 5SW7 710 50 2
v J763 v AT 1SN1 80 00 1 ||w Ad2 + v KT7 4swW7 710 50 1
¢ Q3 ¢ KJT97 1NS1 90 00 1||e8 + KJ652 6SW7 -1460 -11.0 1
* KQJ9 » 7432 P 0 20 1 4 ~ AQJ3 6SW6 -1430 -11.0 9
% ¢ VAN 4,A%%2 28S-1 50 -40 2 FOVAN , Q4
N ~~12~ ¢ K842 N ~~~~~ »Q8
S ~~12~ ¢42 S ~~~~~ ¢ Q943
E 32~~~ #A85 E ~~~66 &K9765
W22~~~ W ~~~66
# 27 o AT92 4SXN-2 -300 Mean: 2SW-4 200 60 1 ||#28 s Q4 1NN-1 -100 Mean: 1NXN1 180 9.0 1
v 84 3NS-2-100 -60  4DN4 130 50 1 v KQ2 1NN-2 -200 -220 3NW-2 100 80 1
+ AB763 Dif: -200 NS:-6 3SN3 140 50 1 ¢ AJ3 Dif: 100 NS:3  3NE-2 100 80 1
&T5 IMP: -5 EW:1 3CE-1 50 30 1 & QJT76 IMP: 3 EW:-1 2SE2 110 3.0 1
& J7653 ad 5DN-1 50 00 1||a75 a AKJ32 1NN-1 100 3.0 1
v AJ5 v T732 4SN-1 50 0.0 2 ||e AT876 | v J53 3HW4 470 2.0 1
¢ KT9 *5 3NS-1 50 0.0 1 ||e KQ62 ¢ 85 2SW3 140 20 2
& Q2 » AJ87643 3NN-1 50 0.0 1 ||as 43 » AK2 2SE3 140 20 2
% ¢ VAN ,KQ8 2NS-1 50 0.0 1 * ¢V AN ,T986 1NN-2 200 1.0 2
N ~4~21 v KQ6 3NS-2 400 10 1 |[N ~~~~~ v 94 3DS-3 300 20 1
S ~4~21 +QJ42 3NS-3 150 30 3 ||S ~~~~~ ¢ T974 4HW4 420 50 1
E 2~~~~ &K9 2NS-3 150 30 1||E ~~432 985 4HE4 420 50 2
W 2~~~n~ 3NS-4 200 -40 2 ||wW ~~432 2CXN-2  -500 -7.0 1
4SXN-2 300 6.0 1 2SXN-4  -1100 -13.0 1
# 29 4 A32 4SS-1 -100 Mean: 4SN4 620 11.0 3 ||# 30 & KT42 3CW-150 Mean: 4CXW-3 500 80 1
v AJ95 4SN-1-100 60  3HXW-1 200 40 1 v KT7 3NN-2 -100 170  4SS6 480 7.0 1
+ KQ3 Dif: 0 NS:-4 3SN4 170 3.0 1 + QJ9 Dif: 150 NS:-3 4SN5 450 7.0 1
» KT8 IMP: 0 EW:4 2SN3 140 20 1 » QT8 IMP: 4 EW:7 4ss4 420 6.0 2
45 ] A JT8 3CE-1 100 1.0 1 ||as J87 53 4SN4 420 6.0 2
v KQ86432 oT 48S-1 100 -40 1 ||w A92 v J65 4DS4 130 1.0 1
+ J96 + ¢ A72 4SN-1 100 -40 8 ||e AT ¢ 874 3DS4 130 1.0 1
* Q4 » AJ9752 4SXS-1 200 -6.0 1 ||a AJ932 » K7654 2Ds4 130 1.0 2
% ¢ V&N 4 KQI764 48S-2 200 6.0 1 % ¢V AN 4 AQI 3CW-1 50 3.0 1
N ~2~32 97 N ~5451 v Q843 5DS-1 50 6.0 2
S ~2~32 ¢T854 S ~5451 ¢ K6532 3NN-2 4100 -7.0 3
E 2~2~~ £63 E1~~~~ & 4HS-3 150 -8.0 1
W2-~2~-~ W 1~~~~




X AN >\ ¢ —_—
6 113 EXF 2 ABERFL>B 2 ==> RO 6
1 +
#1: 4 JBH(88.47) #2: 18 JFF9(85.06) #3: 7 LLIZE(76.64)
2 NS: B&SF STHINGEO) 6 8 NS: B2 MZKIB(BAC) 26| VP:| 4.95 15.05| Total VP: 55.62 Rank:
EW: BE#ES: BEESF(RAC) -26 EW: M E#E 5RiIEE(BIO) -6| IMP:| 20 36 12
S — —
# 21 » Q7 3CS3110 Mean: 3CN5 150 4.0 1 [[# 22 s A 6CXN-2 -300 Mean: 5HXS5 650 11.0 1
v Q7 4CN4 130 10  4SE-2 100 3.0 1 v QT87 5SXE-2 500 100  5CXN6 650 11.0 2
+ AQ64 Dif: -20 NS:3 4CN4 130 3.0 2 *2 Dif: -800 NS:-9 5CXN5 550 100 2
& AK982 IMP: -1 EW:-3 3CS3 110 3.0 2 & AKJ8742 IMP: -13 EW:-9 5SXE-2 500 9.0 1
s KJ #» AT632 3CN4 130 3.0 2 ||a K982 & T76543 5CN6 420 8.0 1
v JT9632 v A5 1NN2 120 3.0 2 [|w J2 — v A93 5CN5 400 7.0 1
¢ JT93 | + K852 2SE-1 50 1.0 1 ||e AKJ954 ¢+ Q3 5SE-2 200 30 1
*J » Q7 2SE2 110 30 1 ||a3 » Q5 5SE-1 100 00 2
% ¢ VAN 49854 3DE4 130 -40 1 *eVAN ,QJ 4SE-1 100 00 1
N 3~~~2 9vK84 2HW3 140 -40 2 |IN 5~ 4 ~ ~ « K654 5HXS-1 100 -5.0 1
S 3 ~~~~ o7 2DW4 130 -40 1||S 5~4~~ ¢ T876 6CXN-2 300 9.0 1
E ~321~ &T6543 3NN-2 200 50 1||E ~4~4~ &T96 4SE4 620 120 1
W ~321~ 3HW4 470 50 1 ||W ~4 ~4 ~ 5SW5 650 -13.0 2
4SW5 650 -13.0 1
# 23 & A9765 3NW-1 100 Mean: 3NW-2 200 50 2 ||#24 » J43 3NS-1-50 Mean: 4CXN4 510 8.0 1
v K3 3NW-2200 0 3NW-1 100 3.0 8 v KQ975 4CXN4 510 170  3NS4 430 6.0 1
+ K7532 Dif: -100 NS:3 3NE-1 100 3.0 1 . Dif: -560 NS:-6 3NS3 400 6.0 3
&2 IMP: -3 EW:-5 3CW-1 100 3.0 1 & QJT62 IMP: -11 EW:-8 2SS4 170 00 1
» KQ83 a 42 3CE-1 100 3.0 1 ||a AQ72 ~ 65 4CN4 130 1.0 1
v AJT2 + v 54 3cws 110 3.0 3 || J642 v T83 csa 130 40 1
+ A6 * QJ94 3NW3 600 -12.0 2 ||e ATS ¢ QJ943 3CN4 130 1.0 1
& 743 S » AKJ85 a A7 543 2HN3 140 1.0 1
S VAN \JT %o VAN 4 KT8 3CN3 110 20 3
N ~~~~~ v Q9876 N 3~~319vA 3DW-1 50 3.0 1
S ~~n~~~ oT8 S 3 ~~31 ¢ K7652 INW-1 50 3.0 2
E 2~~~2 &QT9 E ~1~~~ &K98 3NS-1 50 6.0 1
W 2~~~2 W ~1~~~ 3NN-1 50 6.0 1
# 25 s QJT4 1SN1 80 Mean: 3SN3 140 2.0 1 [|# 26 s 72 4SW7 -710 Mean: 7SW-1 100 140 1
v Q95 2SN2110 80  2SN3 140 20 2 v J9653 6SW7 -1460 -880 6SW-1 100 140 2
+ A865 Dif: -30 NS:0 2SS2 110 1.0 3 * AT7 Dif: 750 NS:5 6NE-2 200 14.0 1
»T6 IMP: -1 EW:-1  2SN2 110 1.0 4 » T82 IMP: 13 EW:11 2DE-1 100 140 1
» K87 53 1SN2 110 1.0 3 ||a AKJT9863 a5 5SW7 710 50 2
v J763 v AT 1SN1 80 00 1 ||w Ad2 + v KT7 4swW7 710 50 1
¢ Q3 ¢ KJT97 1NS1 90 00 1||e8 + KJ652 6SW7 -1460 -11.0 1
* KQJ9 » 7432 P 0 20 1 4 ~ AQJ3 6SW6 1430 110 9
% ¢ VAN 4,A%%2 28S-1 50 -40 2 FOVAN , Q4
N ~~12~ ¢ K842 N ~~~~~ »Q8
S ~~12~ ¢42 S ~~~~~ ¢ Q943
E 32~~~ #A85 E ~~~66 &K9765
W22~~~ W ~~~66
# 27 o AT92 5DN-1-50 Mean: 2SW-4 200 60 1 ||#28 s Q4 3NW-2 100 Mean: 1NXN1 180 9.0 1
v 84 3NS-1-50 -60 4DN4 130 50 1 v KQ2 1NN-2 -200 -220 3NW-2 100 80 1
+ AB763 Dif: 0 NS:0 3SN3 140 50 1 ¢ AJ3 Dif: 300 NS:8 3NE-2 100 80 1
&T5 IMP: 0 EW:0 3CE-1 50 30 1 & QJT76 IMP: 7 EW:-1 2SE2 110 3.0 1
& J7653 ad 5DN-1 50 00 1||a75 a AKJ32 1NN-1 100 3.0 1
v AJ5 v T732 4SN-1 50 0.0 2 ||e AT876 | v J53 3HW4 470 2.0 1
¢ KT9 *5 3NS-1 50 0.0 1 ||e KQ62 ¢ 85 2SW3 140 20 2
& Q2 » AJ87643 3NN-1 50 0.0 1 ||a 43 » AK2 2SE3 140 20 2
% ¢ VAN ,KQ8 2NS-1 50 0.0 1 * ¢V AN ,T986 1NN-2 200 1.0 2
N ~4~21 v KQ6 3NS-2 100 10 1[N ~~~~~ v 94 3DS-3 300 20 1
S ~4~21 +QJ42 3NS-3 150 30 3 ||S ~~~~~ ¢ T974 4HW4 420 50 1
E 2~~~~ &K9 2NS-3 150 30 1||E ~~432 985 4HE4 420 50 2
W 2~~~n~ 3NS-4 200 -40 2 ||wW ~~432 2CXN-2  -500 -7.0 1
4SXN-2 300 6.0 1 2SXN-4  -1100 -13.0 1
# 29 4 A32 4SN-1-100 Mean: 4SN4 620 11.0 3 ||# 30 & KT42 4SN4 420 Mean: 4CXW-3 500 80 1
v AJ95 3HXW-1200 60  3HXW-1 200 4.0 1 v KT7 4S5S4 420 170  4SS6 480 7.0 1
+ KQ3 Dif: -300 NS:-4 3SN4 170 3.0 1 + QJ9 Dif: 0 NS:6 4SN5 450 7.0 1
» KT8 IMP: -7 EW:-4 2SN3 140 20 1 » QT8 IMP: 0 EW:-6 4SS4 420 6.0 2
45 ] A JT8 3CE-1 100 1.0 1 ||as J87 53 4SN4 420 6.0 2
v KQ86432 oT 48S-1 100 -40 1 ||w A92 v J65 4DS4 130 1.0 1
+ J96 + ¢ A72 4SN-1 100 -40 8 ||e AT ¢ 874 3DS4 130 1.0 1
& Q4 » AJ9752 4SXS-1 200 -6.0 1 ||a AJ932 » K7654 2Ds4 130 1.0 2
% ¢ V&N 4 KQI764 48S-2 200 6.0 1 % ¢V AN 4 AQI 3CW-1 50 3.0 1
N ~2~32 97 N ~5451 v Q843 5DS-1 50 6.0 2
S ~2~32 ¢T854 S ~5451 ¢ K6532 3NN-2 4100 -7.0 3
E 2~2~~ £63 E1~~~~ & 4HS-3 150 -8.0 1
W2-~2~-~ W 1~~~~




-l AN ;\ J— R6 6
6 113& a;g < ¢ &Wﬁﬁﬁ-% e ==
3 NS: BEscE @%‘E%(BﬁOH 10 §J,#7J< EHEJE(F:ﬁC) 21 VP:| 8.50 : 11.50| Total VP: 38.59 Rank:
EW: B2 BaEEEIC) -21 EW: #B{E32 ZBE55E(BAO) -7| IMP:| 35 39 16
S — — —
# 21 » Q7 3HW4 -170 Mean: 3CN5 150 4.0 1 [[# 22 s A 5SE-1 100 Mean: 5HXS5 650 11.0 1
v Q7 3CN4 130 10 4SE-2 100 3.0 1 v QT87 4SW5 -650 100  5CXN6 650 110 2
+ AQ64 Dif: -300 NS:-5 4CN4 130 3.0 2 *2 Dif: 750 NS:0 5CXN5 550 100 2
& AK982 IMP: -7 EW:-3 3CS3 110 3.0 2 & AKJ8742 IMP: 13 EW:13 5SXE-2 500 9.0 1
s KJ #» AT632 3CN4 130 3.0 2 ||a K982 & T76543 5CN6 420 8.0 1
v JT9632 v A5 1NN2 120 3.0 2 [|w J2 — v A93 5CN5 400 7.0 1
¢ JT93 | + K852 2SE-1 50 1.0 1 ||e AKJ954 ¢+ Q3 5SE-2 200 30 1
*J » Q7 2SE2 110 30 1 ||a3 » Q5 5SE-1 100 00 2
% ¢ VAN 49854 3DE4 130 -40 1 *eVAN ,QJ 4SE-1 100 00 1
N 3~~~2 9vK84 2HW3 140 -40 2 |IN 5~ 4 ~ ~ « K654 5HXS-1 100 -5.0 1
S 3 ~~~~ o7 2DW4 130 -40 1||S 5~4~~ ¢ T876 6CXN-2 300 9.0 1
E ~321~ &T6543 3NN-2 200 50 1||E ~4~4~ &T96 4SE4 620 120 1
W ~321~ 3HW4 470 50 1 ||W ~4 ~4 ~ 5SW5 650 -13.0 2
4SW5 650 -13.0 1
# 23 o A9765 3NW-1 100 Mean: 3NW-2 200 50 2 ||#24 » J43 2SS4 170 Mean: 4CXN4 510 8.0 1
v K3 3NW-1100 o0 3NW-1 100 3.0 8 v KQ975 3NS3400 170 3NS4 430 6.0 1
+ K7532 Dif: 0 NS:3 3NE-1 100 3.0 1 . Dif: -230 NS:0 3NS3 400 6.0 3
&2 IMP: 0 EW:-3 3CW-1 100 3.0 1 & QJT62 IMP: -6 EW:-6 2SS4 170 00 1
» KQ83 a 42 3CE-1 100 3.0 1 ||a AQ72 ~ 65 4CN4 130 1.0 1
v AJT2 + v 54 3cws 110 3.0 3 || J642 v 783 csa 130 40 1
+ A6 * QJ94 3NW3 600 -12.0 2 ||e ATS ¢ QJ943 3CN4 130 1.0 1
& 743 S » AKJ85 a A7 543 2HN3 140 1.0 1
S VAN \JT %o VAN 4 KT8 3CN3 110 20 3
N ~~~~~ v Q9876 N 3~~319vA 3DW-1 50 3.0 1
S ~~~~~ ¢ T8 S 3 ~~31 ¢ K7652 INW-1 50 3.0 2
E 2~~~2 &QT9 E ~1~~~ &K98 3NS-1 50 6.0 1
W 2~~~2 W ~1~~~ 3NN-1 50 6.0 1
# 25 s QJT4 3SN3 140 Mean: 3SN3 140 2.0 1 [|# 26 s 72 6SW6 -1430 Mean: 7SW-1 100 140 1
v Q95 PO 80  2SN3 140 2.0 2 v J9653 7SW-1100 -880 6SW-1 100 140 2
+ A865 Dif: 140 NS:2 2SS2 110 1.0 3 * AT7 Dif: -1530 NS:-11 6NE-2 200 14.0 1
»T6 IMP: 4 EW:2 2SN2 110 1.0 4 » T82 IMP: -17 EW:-14 2DE-1 100 140 1
» K87 53 1SN2 110 1.0 3 ||a AKJT9863 a5 5SW7 710 50 2
v J763 v AT 1SN1 80 00 1 ||w Ad2 + v KT7 4swW7 710 50 1
¢ Q3 ¢ KJT97 1NS1 90 00 1||e8 + KJ652 6SW7 -1460 -11.0 1
* KQJ9 » 7432 P 0 20 1||s4 ~ AQJ3 6SW6 -1430 -11.0 9
% ¢ VAN 4,A%%2 28S-1 50 -40 2 FOVAN , Q4
N ~~12~ ¢ K842 N ~~~~~ v Q8
S ~~12~ ¢42 S ~~~~~ ¢ Q943
E 32~~~ #A85 E ~~~66 &K9765
W22~~~ W ~~~66
# 27 o AT92 4DN4 130 Mean: 2SW-4 200 60 1 ||#28 s Q4 4HE4 -420 Mean: 1NXN1 180 9.0 1
v 84 2SW-4200 -60  4DN4 130 50 1 v KQ2 2SE3 -140 -220 3NW-2 100 80 1
+ AB763 Dif: -70 NS:5 3SN3 140 50 1 ¢ AJ3 Dif: -280 NS:-5 3NE-2 100 80 1
&T5 IMP: -2 EW:-6 3CE-1 50 30 1 & QJT76 IMP: -7 EW:-2 2SE2 110 3.0 1
& J7653 ad 5DN-1 50 00 1||a75 a AKJ32 1NN-1 100 3.0 1
v AJ5 v T732 4SN-1 50 0.0 2 ||e AT876 | v J53 3HW4 470 2.0 1
¢ KT9 *5 3NS-1 50 0.0 1 ||e KQ62 ¢ 85 2SW3 140 20 2
& Q2 » AJ87643 3NN-1 50 0.0 1 ||as 43 » AK2 2SE3 140 20 2
% ¢ VAN ,KQ8 2NS-1 50 0.0 1 * ¢V AN ,T986 1NN-2 200 1.0 2
N ~4~21 v KQ6 3NS-2 400 10 1 |[N ~~~~~ v 94 3DS-3 300 20 1
S ~4~21 +QJ42 3NS-3 150 30 3 ||S ~~~~~ ¢ T974 4HW4 420 50 1
E 2~~~~ &K9 2NS-3 150 30 1||E ~~432 985 4HE4 420 50 2
W 2~~~n~ 3NS-4 200 -40 2 ||wW ~~432 2CXN-2  -500 -7.0 1
4SXN-2 300 6.0 1 2SXN-4  -1100 -13.0 1
# 29 4 A32 4SN4 620 Mean: 4SN4 620 11.0 3 ||# 30 & KT42 4SS6 480 Mean: 4CXW-3 500 80 1
v AJ95 3SN4170 60  3HXW-1 200 4.0 1 v KT7 4DS4130 170  4SS6 480 7.0 1
+ KQ3 Dif: 450 NS:11 3SN4 170 3.0 1 + QJ9 Dif: 350 NS:7 4SN5 450 7.0 1
» KT8 IMP: 10 EW:-3 2SN3 140 20 1 » QT8 IMP: 8 EW:1 4ss4 420 6.0 2
45 ] A JT8 3CE-1 100 1.0 1 ||as J87 53 4SN4 420 6.0 2
v KQ86432 oT 48S-1 100 -40 1 ||w A92 v J65 4DS4 130 1.0 1
+ J96 + ¢ A72 4SN-1 100 -40 8 ||e AT ¢ 874 3DS4 130 1.0 1
* Q4 » AJ9752 4SXS-1 200 -6.0 1 ||a AJ932 » K7654 2Ds4 130 1.0 2
% ¢ V&N 4 KQI764 48S-2 200 6.0 1 % ¢V AN 4 AQI 3CW-1 50 3.0 1
N ~2~32 97 N ~5451 v Q843 5DS-1 50 6.0 2
S ~2~32 ¢T854 S ~5451 ¢ K6532 3NN-2 4100 -7.0 3
E 2~2~~ £63 E1~~~~ & 4HS-3 150 -8.0 1
W2-~2~-~ W 1~~~~




S ' AN jrir- _ 6
6 113&; < ¢ &Wﬁﬁm% e ==> R6
4 NS: #4588 ZEIT(GHO) 5 1 8 NS: Ml&iﬁ FilﬁbﬁJ:](F:ﬁC) 3 VP:[ 10.39 : 9.61 Total VP: 88.47 Rank:
EW: EEHi 2k J51EEAC) -3 EW: &5 ]t E(BJO) -5) IMP:| 29 28 1
S — —
# 21 » Q7 3CS3110 Mean: 3CN5 150 4.0 1 [[# 22 s A 5CXN6 650 Mean: 5HXS5 650 11.0 1
v Q7 3CN5150 10  4SE-2 100 3.0 1 v QT87 5SW5 -650 100  5CXN6 650 11.0 2
+ AQ64 Dif: -40 NS:3 4CN4 130 3.0 2 *2 Dif: 1300 NS:11 5CXN5 550 100 2
& AK982 IMP: -1 EW:-4 3CS3 110 3.0 2 & AKJ8742 IMP: 16 EW:13 5SXE-2 500 9.0 1
s KJ #» AT632 3CN4 130 3.0 2 ||a K982 & T76543 5CN6 420 8.0 1
v JT9632 v A5 1NN2 120 3.0 2 [|w J2 — v A93 5CN5 400 7.0 1
¢ JT93 | + K852 2SE-1 50 1.0 1 ||e AKJ954 ¢+ Q3 5SE-2 200 30 1
*J » Q7 2SE2 110 30 1 ||a3 » Q5 5SE-1 100 00 2
% ¢ VAN 49854 3DE4 130 -40 1 *eVAN ,QJ 4SE-1 100 00 1
N 3~~~2 9vK84 2HW3 140 -40 2 |IN 5~ 4 ~ ~ « K654 5HXS-1 100 -5.0 1
S 3 ~~~~ o7 2DW4 130 -40 1||S 5~4~~ ¢ T876 6CXN-2 300 9.0 1
E ~321~ &T6543 3NN-2 200 50 1||E ~4~4~ &T96 4SE4 620 120 1
W ~321~ 3HW4 470 50 1 ||W ~4 ~4 ~ 5SW5 650 -13.0 2
4SW5 650 -13.0 1
# 23 & A9765 3CE-1100 Mean: 3NW-2 200 50 2 ||#24 » J43 3NS4 430 Mean: 4CXN4 510 8.0 1
v K3 3CW3-110 o0 3NW-1 100 3.0 8 v KQ975 3NS3400 170 3NS4 430 6.0 1
+ K7532 Dif: 210 NS:3  3NE-1 100 3.0 1 . Dif: 30 NS:6 3NS3 400 6.0 3
&2 IMP: 5 EW:3 3CW-1 100 3.0 1 & QJT62 IMP: 1 EW:-6 2SS4 170 00 1
» KQ83 a 42 3CE-1 100 3.0 1 ||a AQ72 ~ 65 4CN4 130 1.0 1
v AJT2 + v 54 3cws 110 3.0 3 || J642 v 783 csa 130 40 1
+ A6 * QJ94 3NW3 600 -12.0 2 ||e ATS ¢ QJ943 3CN4 130 1.0 1
& 743 S » AKJ85 a A7 543 2HN3 140 1.0 1
S VAN \JT %o VAN 4 KT8 3CN3 110 20 3
N ~~~~~ v Q9876 N 3~~319vA 3DW-1 50 3.0 1
S ~~n~~~ oT8 S 3 ~~31 ¢ K7652 INW-1 50 3.0 2
E 2~~~2 &QT9 E ~1~~~ &K98 3NS-1 50 6.0 1
W 2~~~2 W ~1~~~ 3NN-1 50 6.0 1
# 25 s QJT4 2SS2 110 Mean: 3SN3 140 2.0 1 [|# 26 s 72 6SW6 -1430 Mean: 7SW-1 100 140 1
v Q95 1SN2110 80  2SN3 140 20 2 v J9653 6SW-1100 -880 6SW-1 100 140 2
+ A865 Dif: 0 NS:1 2SS2 110 1.0 3 * AT7 Dif: -1530 NS:-11 6NE-2 200 14.0 1
»T6 IMP: 0 EW:-1 2SN2 110 1.0 4 » T82 IMP: -17 EW:-14 2DE-1 100 140 1
» K87 53 1SN2 110 1.0 3 ||a AKJT9863 a5 5SW7 710 50 2
v J763 v AT 1SN1 80 00 1 ||w Ad2 + v KT7 4swW7 710 50 1
¢ Q3 ¢ KJT97 1NS1 90 00 1||e8 + KJ652 6SW7 -1460 -11.0 1
* KQJ9 » 7432 P 0 20 1 4 ~ AQJ3 6SW6 -1430 -11.0 9
% ¢ VAN 4,A%%2 28S-1 50 -40 2 FOVAN , Q4
N ~~12~ vK842 N ~~~~~ vQ8
S ~~12~ ¢42 S ~~~~~ ¢ Q943
E 32~~~ &A85 E ~~~66 & K9765
W22~~~ W ~~~66
# 27 o AT92 3NS-4 -200 Mean: 2SW-4 200 60 1 ||#28 s Q4 3NE-2 100 Mean: 1NXN1 180 9.0 1
v 84 3NS-3-150 -60  4DN4 130 50 1 v KQ2 3HW4 -170 -220  3NW-2 100 80 1
+ AB763 Dif: -50 NS:-4 3SN3 140 50 1 ¢ AJ3 Dif: 270 NS:8 3NE-2 100 80 1
&T5 IMP: -2 EW:3 3CE-1 50 30 1 & QJT76 IMP: 7 EW:-2 2SE2 110 3.0 1
& J7653 ad 5DN-1 50 00 1||a75 a AKJ32 1NN-1 100 3.0 1
v AJ5 v T732 4SN-1 50 0.0 2 ||e AT876 | v J53 3HW4 470 2.0 1
¢ KT9 *5 3NS-1 50 0.0 1 ||e KQ62 ¢ 85 2SW3 140 20 2
& Q2 » AJ87643 3NN-1 50 0.0 1 ||as 43 » AK2 2SE3 140 20 2
% ¢ VAN ,KQ8 2NS-1 50 0.0 1 * ¢V AN ,T986 1NN-2 200 1.0 2
N ~4~21 v KQ6 3NS-2 100 10 1[N ~~~~~ v 94 3DS-3 300 20 1
S ~4~21 +QJ42 3NS-3 150 30 3 ||S ~~~~~ ¢ T974 4HW4 420 50 1
E 2~~~~ &K9 2NS-3 150 30 1||E ~~432 985 4HE4 420 50 2
W 2~~~n~ 3NS-4 200 -40 2 ||wW ~~432 2CXN-2  -500 -7.0 1
4SXN-2 300 6.0 1 2SXN-4  -1100 -13.0 1
# 29 4 A32 4SXS-1-200 Mean: 4SN4 620 11.0 3 ||# 30 & KT42 5DS-1-50 Mean: 4CXW-3 500 80 1
v AJ95 4SN-1-100 60  3HXW-1 200 40 1 v KT7 2DS4130 170  4SS6 480 7.0 1
+ KQ3 Dif: -100 NS:-6 3SN4 170 3.0 1 + QJ9 Dif: -180 NS:-6 4SN5 450 7.0 1
» KT8 IMP: -3 EW:4 2SN3 140 20 1 » QT8 IMP: -5 EW:1 4SS4 420 6.0 2
45 ] A JT8 3CE-1 100 1.0 1 ||as J87 53 4SN4 420 6.0 2
v KQ86432 oT 48S-1 100 -40 1 ||w A92 v J65 4DS4 130 1.0 1
+ J96 + ¢ A72 4SN-1 100 -40 8 ||e AT ¢ 874 3DS4 130 1.0 1
& Q4 » AJ9752 4SXS-1 200 -6.0 1 ||a AJ932 » K7654 2Ds4 130 1.0 2
% ¢ V&N 4 KQI764 48S-2 200 6.0 1 % ¢V AN 4 AQI 3CW-1 50 3.0 1
N ~2~32 97 N ~5451 v Q843 5DS-1 50 6.0 2
S ~2~32 ¢T854 S ~5451 ¢ K6532 3NN-2 4100 -7.0 3
E 2~2~~ £63 E1~~~~ & 4HS-3 150 -8.0 1
W2-~2~-~ W 1~~~~




X AN >\ ¢ —_—
6 113 EXF 2 ABERFL>B 2 ==> RO 6
1 +
#1: 4 JBH(88.47) #2: 18 JFF9(85.06) #3: 7 LLIZE(76.64)
5 NS: F2EEE BESZ(GHO) 24 7 NS: B{Z{& BI#(BAC) 28 VP:| 9.23 10.77| Total VP: 76.09 Rank:
EW: S FSE(EAC) -28 EW: HER BEi5(BO) -2 IMP:| 19 21 4
S — o — I
# 21 » Q7 2SE-150 Mean: 3CN5 150 4.0 1 [[# 22 s A 5HXS-1-100 Mean: 5HXS5 650 11.0 1
v Q7 4SE-2100 10  4SE-2 100 3.0 1 v QT87 5SE-1 100 100  5CXN6 650 11.0 2
+ AQ64 Dif: -50 NS:1 4CN4 130 3.0 2 *2 Dif: -200 NS:-5 5CXN5 550 100 2
& AK982 IMP: -2 EW:-3 3CS3 110 3.0 2 & AKJ8742 IMP: -5 EW:0 5SXE-2 500 9.0 1
s KJ #» AT632 3CN4 130 3.0 2 ||a K982 & T76543 5CN6 420 8.0 1
v JT9632 v A5 1NN2 120 3.0 2 [|w J2 — v A93 5CN5 400 7.0 1
¢ JT93 | + K852 2SE-1 50 1.0 1 ||e AKJ954 ¢+ Q3 5SE-2 200 30 1
*J » Q7 2SE2 110 30 1 ||a3 » Q5 5SE-1 100 00 2
% ¢ VAN 49854 3DE4 130 -40 1 *eVAN ,QJ 4SE-1 100 00 1
N 3~~~2 9vK84 2HW3 140 -40 2 |IN 5~ 4 ~ ~ « K654 5HXS-1 100 -5.0 1
S 3 ~~~~ o7 2DW4 130 -40 1||S 5~4~~ ¢ T876 6CXN-2 300 9.0 1
E ~321~ &T6543 3NN-2 200 50 1||E ~4~4~ &T96 4SE4 620 120 1
W ~321~ 3HW4 470 50 1 ||W ~4 ~4 ~ 5SW5 650 -13.0 2
4SW5 650 -13.0 1
# 23 & A9765 3NE-1 100 Mean: 3NW-2 200 50 2 ||#24 » J43 3CN4 130 Mean: 4CXN4 510 8.0 1
v K3 3NW-1100 0 3NW-1 100 3.0 8 v KQ975 2HN3 140 170  3NS4 430 6.0 1
+ K7532 Dif: 0 NS:3 3NE-1 100 3.0 1 . Dif: -10 NS:-1  3NS3 400 6.0 3
&2 IMP: 0 EW:-3 3CW-1 100 3.0 1 & QJT62 IMP: 0 EW:1 2SS4 170 00 1
» KQ83 a 42 3CE-1 100 3.0 1 ||a AQ72 ~ 65 4CN4 130 1.0 1
v AJT2 + v 54 3cws 110 3.0 3 || J642 v T83 csa 130 40 1
+ A6 * QJ94 3NW3 600 -12.0 2 ||e ATS ¢ QJ943 3CN4 130 1.0 1
& 743 S » AKJ85 a A7 543 2HN3 140 1.0 1
S VAN \JT %o VAN 4 KT8 3CN3 110 20 3
N ~~~~~ v Q9876 N 3~~319vA 3DW-1 50 3.0 1
S ~~n~~~ oT8 S 3 ~~31 ¢ K7652 INW-1 50 3.0 2
E 2~~~2 &QT9 E ~1~~~ &K98 3NS-1 50 6.0 1
W 2~~~2 W ~1~~~ 3NN-1 50 6.0 1
# 25 s QJT4 1SN2 110 Mean: 3SN3 140 2.0 1 [|# 26 s 72 6NE-2 200 Mean: 7SW-1 100 140 1
v Q95 2SN3140 80  2SN3 140 20 2 v J9653 2DE-1100 -880 6SW-1 100 140 2
+ A865 Dif: -30 NS:1  2SS2 110 1.0 3 * AT7 Dif: 100 NS:14 6NE-2 200 14.0 1
»T6 IMP: -1 EW:-2 2SN2 110 1.0 4 » T82 IMP: 3 EW:-14 2DE-1 100 140 1
» K87 53 1SN2 110 1.0 3 ||a AKJT9863 a5 5SW7 710 50 2
v J763 v AT 1SN1 80 00 1 ||w Ad2 + v KT7 4swW7 710 50 1
¢ Q3 ¢ KJT97 1NS1 90 00 1||e8 + KJ652 6SW7 -1460 -11.0 1
* KQJ9 » 7432 P 0 20 1 4 ~ AQJ3 6SW6 1430 110 9
% ¢ VAN 4,A%%2 28S-1 50 -40 2 FOVAN , Q4
N ~~12~ ¢ K842 N ~~~~~ »Q8
S ~~12~ ¢42 S ~~~~~ ¢ Q943
E 32~~~ &A85 E ~~~66 & K9765
W22~~~ W ~~~66
# 27 o AT92 4SN-1-50 Mean: 2SW-4 200 60 1 ||#28 s Q4 1NXN1 180 Mean: 1NXN1 180 9.0 1
v 84 3NS-4-200 -60  4DN4 130 50 1 v KQ2 2CXN-2 -500 -220 3NW-2 100 80 1
+ AB763 Dif: 150 NS:0 3SN3 140 50 1 ¢ AJ3 Dif: 680 NS:9 3NE-2 100 80 1
&T5 IMP: 4 EW:4 3CE-1 50 30 1 & QJT76 IMP: 12 EW:7 2SE2 110 3.0 1
& J7653 ad 5DN-1 50 00 1||a75 a AKJ32 1NN-1 100 3.0 1
v AJ5 v T732 4SN-1 50 0.0 2 ||e AT876 | v J53 3HW4 470 2.0 1
¢ KT9 *5 3NS-1 50 0.0 1 ||e KQ62 ¢ 85 2SW3 140 20 2
& Q2 » AJ87643 3NN-1 50 0.0 1 ||a 43 » AK2 2SE3 140 20 2
% ¢ VAN ,KQ8 2NS-1 50 0.0 1 * ¢V AN ,T986 1NN-2 200 1.0 2
N ~4~21 v KQ6 3NS-2 100 10 1[N ~~~~~ v 94 3DS-3 300 20 1
S ~4~21 +QJ42 3NS-3 150 30 3 ||S ~~~~~ ¢ T974 4HW4 420 50 1
E 2~~~~ &K9 2NS-3 150 30 1||E ~~432 985 4HE4 420 50 2
W 2~~~n~ 3NS-4 200 -40 2 ||wW ~~432 2CXN-2  -500 -7.0 1
4SXN-2 300 6.0 1 2SXN-4  -1100 -13.0 1
# 29 4 A32 4SN-1-100 Mean: 4SN4 620 11.0 3 ||# 30 & KT42 4SN4 420 Mean: 4CXW-3 500 80 1
v AJ95 4SN4 620 60  3HXW-1 200 40 1 v KT7 4SN5450 170  4SS6 480 7.0 1
+ KQ3 Dif: -720 NS:-4 3SN4 170 3.0 1 + QJ9 Dif: -30 NS:6 4SN5 450 7.0 1
» KT8 IMP: -12 EW:-11 2SN3 140 20 1 » QT8 IMP: -1 EW:-7 4Ss4 420 6.0 2
45 ] A JT8 3CE-1 100 1.0 1 ||as J87 53 4SN4 420 6.0 2
v KQ86432 oT 48S-1 100 -40 1 ||w A92 v J65 4DS4 130 1.0 1
+ J96 + ¢ A72 4SN-1 100 -40 8 ||e AT ¢ 874 3DS4 130 1.0 1
& Q4 » AJ9752 4SXS-1 200 -6.0 1 ||a AJ932 » K7654 2Ds4 130 1.0 2
% ¢ V&N 4 KQI764 48S-2 200 6.0 1 % ¢V AN 4 AQI 3CW-1 50 3.0 1
N ~2~32 97 N ~5451 v Q843 5DS-1 50 6.0 2
S ~2~32 ¢T854 S ~5451 ¢ K6532 3NN-2 4100 -7.0 3
E 2~2~~ £63 E1~~~~ & 4HS-3 150 -8.0 1
W2-~2~-~ W 1~~~~




S ' AN jrir- _ 6
6 113&; < ¢ &Wﬁﬁm% e ==> R6
6 NS: KB& EE&'@[,.“(F;EJO) 3 1 2 NS: Eﬂ::iﬁ ﬁEEiJF(Fz‘iC) -311 VP:| 16.39 : 3.61 Total VP: 43.65 Rank:
EW: BREEE =EHEEAC) 30 EW: EE & 15%IFE(BAO) -3| IMP:| 40 18 14
S — - — I
# 21 » Q7 2HW3 -140 Mean: 3CN5 150 4.0 1 [[# 22 s A 5HXS5 650 Mean: 5HXS5 650 11.0 1
v Q7 3DE4 -130 10  4SE-2 100 3.0 1 v QT87 4SE4 -620 100  5CXN6 650 11.0 2
+ AQ64 Dif: 10 NS:-4 4CN4 130 3.0 2 *2 Dif: 1270 NS:11 5CXN5 550 100 2
& AK982 IMP: 0 EW:4 3CS3 110 3.0 2 & AKJ8742 IMP: 15 EW:12 5SXE-2 500 9.0 1
s KJ #» AT632 3CN4 130 3.0 2 ||a K982 & T76543 5CN6 420 8.0 1
v JT9632 v A5 1NN2 120 3.0 2 [|w J2 — v A93 5CN5 400 7.0 1
¢ JT93 | + K852 2SE-1 50 1.0 1 ||e AKJ954 ¢+ Q3 5SE-2 200 30 1
*J » Q7 2SE2 110 30 1 ||a3 » Q5 5SE-1 100 00 2
% ¢ VAN 49854 3DE4 130 -40 1 *eVAN ,QJ 4SE-1 100 00 1
N 3~~~2 9vK84 2HW3 140 -40 2 |IN 5~ 4 ~ ~ « K654 5HXS-1 100 -5.0 1
S 3 ~~~~ o7 2DW4 130 -40 1||S 5~4~~ ¢ T876 6CXN-2 300 9.0 1
E ~321~ &T6543 3NN-2 200 50 1||E ~4~4~ &T96 4SE4 620 120 1
W ~321~ 3HW4 470 50 1 ||W ~4 ~4 ~ 5SW5 650 -13.0 2
4SW5 650 -13.0 1
# 23 & A9765 3NW-1 100 Mean: 3NW-2 200 50 2 ||#24 » J43 3DW-150 Mean: 4CXN4 510 8.0 1
v K3 3NW3 -600 0 3NW-1 100 3.0 8 v KQ975 1NW-150 170  3NS4 430 6.0 1
+ K7532 Dif: 700 NS:3  3NE-1 100 3.0 1 . Dif: 0 NS:-3 3NS3 400 6.0 3
&2 IMP: 12 EW:12 3CW-1 100 3.0 1 & QJT62 IMP: 0 EW:3 2SS4 170 00 1
» KQ83 a 42 3CE-1 100 3.0 1 ||a AQ72 ~ 65 4CN4 130 1.0 1
v AJT2 + v 54 3cws 110 3.0 3 || J642 v 783 csa 130 40 1
+ A6 * QJ94 3NW3 600 -12.0 2 ||e ATS ¢ QJ943 3CN4 130 1.0 1
& 743 S » AKJ85 a A7 543 2HN3 140 1.0 1
S VAN \JT %o VAN 4 KT8 3CN3 110 20 3
N ~~~~~ v Q9876 N 3~~319vA 3DW-1 50 3.0 1
S ~~n~~~ oT8 S 3 ~~31 ¢ K7652 INW-1 50 3.0 2
E 2~~~2 &QT9 E ~1~~~ &K98 3NS-1 50 6.0 1
W 2~~~2 W ~1~~~ 3NN-1 50 6.0 1
# 25 s QJT4 1NS190 Mean: 3SN3 140 2.0 1 [|# 26 s 72 6SW6 -1430 Mean: 7SW-1 100 140 1
v Q95 2SS2110 80  2SN3 140 20 2 v J9653 5SW7 -710 -880  6SW-1 100 140 2
+ A865 Dif: -20 NS:0 2SS2 110 1.0 3 * AT7 Dif: -720 NS:-11 6NE-2 200 14.0 1
»T6 IMP: -1 EW:-1  2SN2 110 1.0 4 » T82 IMP: -12 EW:-5 2DE-1 100 140 1
» K87 53 1SN2 110 1.0 3 ||a AKJT9863 a5 5SW7 710 50 2
v J763 v AT 1SN1 80 00 1 ||w Ad2 + v KT7 4swW7 710 50 1
¢ Q3 ¢ KJT97 1NS1 90 00 1||e8 + KJ652 6SW7 -1460 -11.0 1
* KQJ9 » 7432 P 0 20 1 4 ~ AQJ3 6SW6 -1430 -11.0 9
% ¢ VAN 4,A%%2 28S-1 50 -40 2 FOVAN , Q4
N ~~12~ ¢ K842 N ~~~~~ »Q8
S ~~12~ ¢42 S ~~~~~ ¢ Q943
E 32~~~ &A85 E ~~~66 & K9765
W22~~~ W ~~~66
# 27 o AT92 3NN-1-50 Mean: 2SW-4 200 60 1 ||#28 s Q4 2SE2 -110 Mean: 1NXN1 180 9.0 1
v 84 2NS-1-50 -60  4DN4 130 50 1 v KQ2 2SE3 -140 -220 3NW-2 100 80 1
+ AB763 Dif: 0 NS:0 3SN3 140 50 1 ¢ AJ3 Dif: 30 NS:3 3NE-2 100 80 1
&T5 IMP: 0 EW:0 3CE-1 50 30 1 & QJT76 IMP: 1 EW:-2 2SE2 110 3.0 1
& J7653 ad 5DN-1 50 00 1||a75 a AKJ32 1NN-1 100 3.0 1
v AJ5 v T732 4SN-1 50 0.0 2 ||e AT876 | v J53 3HW4 470 2.0 1
¢ KT9 *5 3NS-1 50 0.0 1 ||e KQ62 ¢ 85 2SW3 140 20 2
& Q2 » AJ87643 3NN-1 50 0.0 1 ||as 43 » AK2 2SE3 140 20 2
% ¢ VAN ,KQ8 2NS-1 50 0.0 1 * ¢V AN ,T986 1NN-2 200 1.0 2
N ~4~21 v KQ6 3NS-2 100 10 1[N ~~~~~ v 94 3DS-3 300 20 1
S ~4~21 +QJ42 3NS-3 150 30 3 ||S ~~~~~ ¢ T974 4HW4 420 50 1
E 2~~~~ &K9 2NS-3 150 30 1||E ~~432 985 4HE4 420 50 2
W 2~~~n~ 3NS-4 200 -40 2 ||wW ~~432 2CXN-2  -500 -7.0 1
4SXN-2 300 6.0 1 2SXN-4  -1100 -13.0 1
# 29 4 A32 4SN-1-100 Mean: 4SN4 620 11.0 3 ||# 30 & KT42 4CXW-3 500 Mean: 4CXW-3 500 80 1
v AJ95 3CE-1100 60  3HXW-1 200 4.0 1 v KT7 4HS-3 -150 170  4SS6 480 7.0 1
+ KQ3 Dif: -200 NS:-4 3SN4 170 3.0 1 + QJ9 Dif: 650 NS:8 4SN5 450 7.0 1
» KT8 IMP: -5 EW:-1 2SN3 140 20 1 » QT8 IMP: 12 EW:8 4Ss4 420 6.0 2
45 ] A JT8 3CE-1 100 1.0 1 ||as J87 53 4SN4 420 6.0 2
v KQ86432 oT 48S-1 100 -40 1 ||w A92 v J65 4DS4 130 1.0 1
+ J96 + ¢ A72 4SN-1 100 -40 8 ||e AT ¢ 874 3DS4 130 1.0 1
& Q4 » AJ9752 4SXS-1 200 -6.0 1 ||a AJ932 » K7654 2Ds4 130 1.0 2
% ¢ V&N 4 KQI764 48S-2 200 6.0 1 % ¢V AN 4 AQI 3CW-1 50 3.0 1
N ~2~32 97 N ~5451 v Q843 5DS-1 50 6.0 2
S ~2~32 ¢T854 S ~5451 ¢ K6532 3NN-2 4100 -7.0 3
E 2~2~~ £63 E1~~~~ & 4HS-3 150 -8.0 1
W2-~2~-~ W 1~~~~




S ' AN jrir- _ 6
6 113&; < ¢ &Wﬁﬁm% e ==> R6
7 NS: & gﬁ{?g}ﬁ(]%ﬁC) 28 5 NS: EEI lﬁl}‘:(ﬁﬁO) 24 VP:| 10.77 : 9.23 Total VP: 76.64 Rank:
EW: JF)F,Q‘\FLF"\ B2 EGEHO) 24 EW: SBERIR ZBIRHE(BAC) -2 IMP:| 21 19 3
— — -
# 21 'y Q7 2SE-1-50 Mean: 3CN5 150 4.0 1 [[# 22 s A 5HXS-1 100 Mean: 5HXS5 650 11.0 1
v Q7 4SE-2 -100 10  4SE-2 100 3.0 1 v QT87 5SE-1-100 100  5CXN6 650 11.0 2
+ AQ64 Dif: 50 NS:3 4CN4 130 3.0 2 *2 Dif: 200 NS:0 5CXN5 550 100 2
& AK982 IMP: 2 EW:-1 3CS3 110 3.0 2 & AKJ8742 IMP: 5 EW:5 5SXE-2 500 9.0 1
s KJ #» AT632 3CN4 130 3.0 2 ||a K982 & T76543 5CN6 420 8.0 1
v JT9632 v A5 1NN2 120 3.0 2 [|w J2 — v A93 5CN5 400 7.0 1
¢ JT93 | + K852 2SE-1 50 1.0 1 ||e AKJ954 ¢+ Q3 5SE-2 200 30 1
*J » Q7 2SE2 110 30 1 ||a3 » Q5 5SE-1 100 00 2
% ¢ VAN 49854 3DE4 130 -40 1 *eVAN ,QJ 4SE-1 100 00 1
N 3~~~2 9vK84 2HW3 140 -40 2 |IN 5~ 4 ~ ~ « K654 5HXS-1 100 -5.0 1
S 3 ~~~~ o7 2DW4 130 -40 1||S 5~4~~ ¢ T876 6CXN-2 300 9.0 1
E ~321~ &T6543 3NN-2 200 50 1||E ~4~4~ &T96 4SE4 620 120 1
W ~321~ 3HW4 470 50 1 ||W ~4 ~4 ~ 5SW5 650 -13.0 2
4SW5 650 -13.0 1
# 23 & A9765 3NE-1-100 Mean: 3NW-2 200 50 2 ||#24 » J43 3CN4 -130 Mean: 4CXN4 510 8.0 1
v K3 3NW-1-100 o 3NW-1 100 3.0 8 v KQ975 2HN3 -140 170  3NS4 430 6.0 1
+ K7532 Dif: 0 NS:3 3NE-1 100 3.0 1 . Dif: 10 NS:-1  3NS3 400 6.0 3
&2 IMP: 0 EW:-3 3CW-1 100 3.0 1 & QJT62 IMP: 0 EW:1 2SS4 170 00 1
» KQ83 a 42 3CE-1 100 3.0 1 ||a AQ72 ~ 65 4CN4 130 1.0 1
v AJT2 + v 54 3cws 110 3.0 3 || J642 v 783 csa 130 40 1
+ A6 * QJ94 3NW3 600 -12.0 2 ||e ATS ¢ QJ943 3CN4 130 1.0 1
& 743 S » AKJ85 a A7 543 2HN3 140 1.0 1
S VAN \JT %o VAN 4 KT8 3CN3 110 20 3
N ~~~~~ v Q9876 N 3~~319vA 3DW-1 50 3.0 1
S ~~n~~~ oT8 S 3 ~~31 ¢ K7652 INW-1 50 3.0 2
E 2~~~2 &QT9 E ~1~~~ &K98 3NS-1 50 6.0 1
W 2~~~2 W ~1~~~ 3NN-1 50 6.0 1
# 25 s QJT4 1SN2 -110 Mean: 3SN3 140 2.0 1 [|# 26 s 72 6NE-2 -200 Mean: 7SW-1 100 140 1
v Q95 2SN3 -140 80  2SN3 140 20 2 v J9653 2DE-1-100 -880 6SW-1 100 140 2
+ A865 Dif: 30 NsS:2 2sS2 110 1.0 3 * AT7 Dif: -100 NS:14 6NE-2 200 14.0 1
»T6 IMP: 1 EW:-1  2SN2 110 1.0 4 » T82 IMP: -3 EW:-14 2DE-1 100 140 1
» K87 53 1SN2 110 1.0 3 ||a AKJT9863 a5 5SW7 710 50 2
v J763 v AT 1SN1 80 00 1 ||w Ad2 + v KT7 4swW7 710 50 1
¢ Q3 ¢ KJT97 1NS1 90 00 1||e8 + KJ652 6SW7 -1460 -11.0 1
* KQJ9 » 7432 P 0 20 1 4 ~ AQJ3 6SW6 -1430 -11.0 9
% ¢ VAN 4,A%%2 28S-1 50 -40 2 FOVAN , Q4
N ~~12~ vK842 N ~~~~~ vQ8
S ~~12~ ¢42 S ~~~~~ ¢ Q943
E 32~~~ &A85 E ~~~66 & K9765
W22~~~ W ~~~66
# 27 o AT92 4SN-150 Mean: 2SW-4 200 60 1 ||#28 s Q4 1NXN1 -180 Mean: 1NXN1 180 9.0 1
v 84 3NS-4200 -60 4DN4 130 50 1 v KQ2 2CXN-2 500 -220 3NW-2 100 80 1
+ AB763 Dif: -150 NS:-4 3SN3 140 50 1 ¢ AJ3 Dif: -680 NS:-7 3NE-2 100 80 1
&T5 IMP: -4 EW:0 3CE-1 50 30 1 & QJT76 IMP: -12 EW:-9 2SE2 110 3.0 1
& J7653 ad 5DN-1 50 00 1||a75 a AKJ32 1NN-1 100 3.0 1
v AJ5 v T732 4SN-1 50 0.0 2 ||e AT876 | v J53 3HW4 470 2.0 1
¢ KT9 *5 3NS-1 50 0.0 1 ||e KQ62 ¢ 85 2SW3 140 20 2
& Q2 » AJ87643 3NN-1 50 0.0 1 ||as 43 » AK2 2SE3 140 20 2
% ¢ VAN ,KQ8 2NS-1 50 0.0 1 * ¢V AN ,T986 1NN-2 200 1.0 2
N ~4~21 v KQ6 3NS-2 100 10 1[N ~~~~~ v 94 3DS-3 300 20 1
S ~4~21 +QJ42 3NS-3 150 30 3 ||S ~~~~~ ¢ T974 4HW4 420 50 1
E 2~~~~ &K9 2NS-3 150 30 1||E ~~432 985 4HE4 420 50 2
W 2~~~n~ 3NS-4 200 -40 2 ||wW ~~432 2CXN-2  -500 -7.0 1
4SXN-2 300 6.0 1 2SXN-4  -1100 -13.0 1
# 29 4 A32 4SN-1 100 Mean: 4SN4 620 11.0 3 ||# 30 & KT42 4SN4 -420 Mean: 4CXW-3 500 80 1
v AJ95 4SN4 -620 60  3HXW-1 200 40 1 v KT7 4SN5 -450 170  4SS6 480 7.0 1
+ KQ3 Dif: 720 NS:11 3SN4 170 3.0 1 + QJ9 Dif: 30 NS:7 4SN5 450 7.0 1
» KT8 IMP: 12 EW:4 2SN3 140 20 1 » QT8 IMP: 1 EW:-6 4SS4 420 6.0 2
45 ] A JT8 3CE-1 100 1.0 1 ||as J87 53 4SN4 420 6.0 2
v KQ86432 oT 48S-1 100 -40 1 ||w A92 v J65 4DS4 130 1.0 1
+ J96 + ¢ A72 4SN-1 100 -40 8 ||e AT ¢ 874 3DS4 130 1.0 1
& Q4 » AJ9752 4SXS-1 200 -6.0 1 ||a AJ932 » K7654 2Ds4 130 1.0 2
% ¢ V&N 4 KQI764 48S-2 200 6.0 1 % ¢V AN 4 AQI 3CW-1 50 3.0 1
N ~2~32 97 N ~5451 v Q843 5DS-1 50 6.0 2
S ~2~32 ¢T854 S ~5451 ¢ K6532 3NN-2 4100 -7.0 3
E 2~2~~ £63 E1~~~~ & 4HS-3 150 -8.0 1
W2-~2~-~ W 1~~~~




S ' AN jrir- _ 6
6 113&; < ¢ &Wﬁﬁm% e ==> R6
8 NS: Ei==f% %%)%(Eﬁ@ 26 2 NS: lﬁ‘g—r /I%E'WL(EﬁO) 6 VP:| 15.05 : 4.95 Total VP: 71.18 Rank:
EW: HhELNE TRIEEBEO) -6 EW: [R#= B#E<F(BAC) -2 IMP:| 36 20 6
S — —
# 21 » Q7 3CS3 -110 Mean: 3CN5 150 4.0 1 [[# 22 s A 6CXN-2 300 Mean: 5HXS5 650 11.0 1
v Q7 4CN4 -130 10  4SE-2 100 3.0 1 v QT87 5SXE-2 -500 100  5CXN6 650 11.0 2
+ AQ64 Dif: 20 NS:3 4CN4 130 3.0 2 *2 Dif: 800 NS:9 5CXN5 550 100 2
& AK982 IMP: 1 EW:-3 3CS3 110 3.0 2 & AKJ8742 IMP: 13 EW:9 5SXE-2 500 9.0 1
s KJ #» AT632 3CN4 130 3.0 2 ||a K982 & T76543 5CN6 420 8.0 1
v JT9632 v A5 1NN2 120 3.0 2 [|w J2 — v A93 5CN5 400 7.0 1
¢ JT93 | + K852 2SE-1 50 1.0 1 ||e AKJ954 ¢+ Q3 5SE-2 200 30 1
*J » Q7 2SE2 110 30 1 ||a3 » Q5 5SE-1 100 00 2
% ¢ VAN 49854 3DE4 130 -40 1 *eVAN ,QJ 4SE-1 100 00 1
N 3~~~2 9vK84 2HW3 140 -40 2 |IN 5~ 4 ~ ~ « K654 5HXS-1 100 -5.0 1
S 3 ~~~~ o7 2DW4 130 -40 1||S 5~4~~ ¢ T876 6CXN-2 300 9.0 1
E ~321~ &T6543 3NN-2 200 50 1||E ~4~4~ &T96 4SE4 620 120 1
W ~321~ 3HW4 470 50 1 ||W ~4 ~4 ~ 5SW5 650 -13.0 2
4SW5 650 -13.0 1
# 23 & A9765 3NW-1-100 Mean: 3NW-2 200 50 2 ||#24 » J43 3NS-150 Mean: 4CXN4 510 8.0 1
v K3 3NW-2-200 0 3NW-1 100 3.0 8 v KQ975 4CXN4 -510 170  3NS4 430 6.0 1
+ K7532 Dif: 100 NS:5 3NE-1 100 3.0 1 . Dif: 560 NS:8 3NS3 400 6.0 3
&2 IMP: 3 EW:-3 3CW-1 100 3.0 1 & QJT62 IMP: 11 EW:6 2SS4 170 00 1
» KQ83 a 42 3CE-1 100 3.0 1 ||a AQ72 ~ 65 4CN4 130 1.0 1
v AJT2 + v 54 3cws 110 3.0 3 || J642 v 783 csa 130 40 1
+ A6 * QJ94 3NW3 600 -12.0 2 ||e ATS ¢ QJ943 3CN4 130 1.0 1
& 743 S » AKJ85 a A7 543 2HN3 140 1.0 1
S VAN \JT %o VAN 4 KT8 3CN3 110 20 3
N ~~~~~ v Q9876 N 3~~319vA 3DW-1 50 3.0 1
S ~~n~~~ oT8 S 3 ~~31 ¢ K7652 INW-1 50 3.0 2
E 2~~~2 &QT9 E ~1~~~ &K98 3NS-1 50 6.0 1
W 2~~~2 W ~1~~~ 3NN-1 50 6.0 1
# 25 s QJT4 1SN1 -80 Mean: 3SN3 140 2.0 1 [|# 26 s 72 4SW7 710 Mean: 7SW-1 100 140 1
v Q95 2SN2-110 80  2SN3 140 20 2 v J9653 6SW7 1460 -880 6SW-1 100 140 2
+ A865 Dif: 30 NsS:1  2SS2 110 1.0 3 * AT7 Dif: -750 NS:-11 6NE-2 200 14.0 1
»T6 IMP: 1 EW:0 2SN2 110 1.0 4 » T82 IMP: -13 EW:-5 2DE-1 100 140 1
» K87 53 1SN2 110 1.0 3 ||a AKJT9863 a5 5SW7 710 50 2
v J763 v AT 1SN1 80 00 1 ||w Ad2 + v KT7 4swW7 710 50 1
¢ Q3 ¢ KJT97 1NS1 90 00 1||e8 + KJ652 6SW7 -1460 -11.0 1
* KQJ9 » 7432 P 0 20 1 4 ~ AQJ3 6SW6 -1430 -11.0 9
% ¢ VAN 4,A%%2 28S-1 50 -40 2 FOVAN , Q4
N ~~12~ ¢ K842 N ~~~~~ »Q8
S ~~12~ ¢42 S ~~~~~ ¢ Q943
E 32~~~ #A85 E ~~~66 &K9765
W22~~~ W ~~~66
# 27 o AT92 5DN-1 50 Mean: 2SW-4 200 60 1 ||#28 s Q4 3NW-2 -100 Mean: 1NXN1 180 9.0 1
v 84 3NS-150 -60 4DN4 130 50 1 v KQ2 1NN-2 200 -220 3NW-2 100 80 1
+ AB763 Dif: 0 NS:0 3SN3 140 50 1 ¢ AJ3 Dif: -300 NS:1 3NE-2 100 80 1
&T5 IMP: 0 EW:0 3CE-1 50 30 1 & QJT76 IMP: -7 EW:-8 2SE2 110 3.0 1
& J7653 ad 5DN-1 50 00 1||a75 a AKJ32 1NN-1 100 3.0 1
v AJ5 v T732 4SN-1 50 0.0 2 ||e AT876 | v J53 3HW4 470 2.0 1
¢ KT9 *5 3NS-1 50 0.0 1 ||e KQ62 ¢ 85 2SW3 140 20 2
& Q2 » AJ87643 3NN-1 50 0.0 1 ||as 43 » AK2 2SE3 140 20 2
% ¢ VAN ,KQ8 2NS-1 50 0.0 1 * ¢V AN ,T986 1NN-2 200 1.0 2
N ~4~21 v KQ6 3NS-2 100 10 1[N ~~~~~ v 94 3DS-3 300 20 1
S ~4~21 +QJ42 3NS-3 150 30 3 ||S ~~~~~ ¢ T974 4HW4 420 50 1
E 2~~~~ &K9 2NS-3 150 30 1||E ~~432 985 4HE4 420 50 2
W 2~~~n~ 3NS-4 200 -40 2 ||wW ~~432 2CXN-2  -500 -7.0 1
4SXN-2 300 6.0 1 2SXN-4  -1100 -13.0 1
# 29 4 A32 4SN-1 100 Mean: 4SN4 620 11.0 3 ||# 30 & KT42 4SN4 -420 Mean: 4CXW-3 500 80 1
v AJ95 3HXW-1-200 60  3HXW-1 200 4.0 1 v KT7 4SS4 -420 170  4SS6 480 7.0 1
+ KQ3 Dif: 300 NS:4 3SN4 170 3.0 1 + QJ9 Dif: 0 NS:6 4SN5 450 7.0 1
» KT8 IMP: 7 EW:4 2SN3 140 20 1 » QT8 IMP: 0 EW:-6 4SS4 420 6.0 2
45 ] A JT8 3CE-1 100 1.0 1 ||as J87 53 4SN4 420 6.0 2
v KQ86432 oT 48S-1 100 -40 1 ||w A92 v J65 4DS4 130 1.0 1
+ J96 + ¢ A72 4SN-1 100 -40 8 ||e AT ¢ 874 3DS4 130 1.0 1
& Q4 » AJ9752 4SXS-1 200 -6.0 1 ||a AJ932 » K7654 2Ds4 130 1.0 2
% ¢ V&N 4 KQI764 48S-2 200 6.0 1 % ¢V AN 4 AQI 3CW-1 50 3.0 1
N ~2~32 97 N ~5451 v Q843 5DS-1 50 6.0 2
S ~2~32 ¢T854 S ~5451 ¢ K6532 3NN-2 4100 -7.0 3
E 2~2~~ £63 E1~~~~ & 4HS-3 150 -8.0 1
W2-~2~-~ W 1~~~~




S ' AN jrir- _ 6
6 113&; < ¢ &Wﬁﬁm% e ==> R6
9 NS: IS%—‘[‘E%E.;@?(F;EJO) -3 16 NS: alé %i‘é%(%‘ic) -29 VP:[ 15.29 : 4.7 Total VP: 60.42 Rank:
EW: 18035 B EAC) 29 EW: Rl BR>¢(F0) 3 IMP:| 34 17 9
S — —
# 21 » Q7 1NN2 120 Mean: 3CN5 150 4.0 1 [[# 22 s A 5CN5 400 Mean: 5HXS5 650 11.0 1
v Q7 2HW3 -140 10  4SE-2 100 3.0 1 v QT87 5CXN5 550 100 5CXN6 650 11.0 2
+ AQ64 Dif: 260 NS:3 4CN4 130 3.0 2 *2 Dif: 150 NS:7 5CXN5 550 100 2
& AK982 IMP: 6 EW:4 3CS3 110 3.0 2 & AKJ8742 IMP: -4 EW:-10 5SXE-2 500 9.0 1
s KJ #» AT632 3CN4 130 3.0 2 ||a K982 & T76543 5CN6 420 8.0 1
v JT9632 v A5 1NN2 120 3.0 2 [|w J2 — v A93 5CN5 400 7.0 1
¢ JT93 | + K852 2SE-1 50 1.0 1 ||e AKJ954 ¢+ Q3 5SE-2 200 30 1
*J » Q7 2SE2 110 30 1 ||a3 » Q5 5SE-1 100 00 2
% ¢ VAN 49854 3DE4 130 -40 1 *eVAN ,QJ 4SE-1 100 00 1
N 3~~~2 9vK84 2HW3 140 -40 2 |IN 5~ 4 ~ ~ « K654 5HXS-1 100 -5.0 1
S 3 ~~~~ o7 2DW4 130 -40 1||S 5~4~~ ¢ T876 6CXN-2 300 9.0 1
E ~321~ &T6543 3NN-2 200 50 1||E ~4~4~ &T96 4SE4 620 120 1
W ~321~ 3HW4 470 50 1 ||W ~4 ~4 ~ 5SW5 650 -13.0 2
4SW5 650 -13.0 1
# 23 & A9765 3NW-1 100 Mean: 3NW-2 200 50 2 ||#24 » J43 3CS4 130 Mean: 4CXN4 510 8.0 1
v K3 3NW3-600 0 3NW-1 100 3.0 8 v KQ975 3CN3110 170 3NS4 430 6.0 1
+ K7532 Dif: 700 NS:3  3NE-1 100 3.0 1 . Dif: 20 NS:-1  3NS3 400 6.0 3
&2 IMP: 12 EW:12 3CW-1 100 3.0 1 & QJT62 IMP: 1 EW:2 2SS4 170 00 1
» KQ83 a 42 3CE-1 100 3.0 1 ||a AQ72 ~ 65 4CN4 130 1.0 1
v AJT2 + v 54 3cws 110 3.0 3 || J642 v 783 csa 130 40 1
+ A6 * QJ94 3NW3 600 -12.0 2 ||e ATS ¢ QJ943 3CN4 130 1.0 1
& 743 S » AKJ85 a A7 543 2HN3 140 1.0 1
S VAN \JT %o VAN 4 KT8 3CN3 110 20 3
N ~~~~~ v Q9876 N 3~~319vA 3DW-1 50 3.0 1
S ~~n~~~ oT8 S 3 ~~31 ¢ K7652 INW-1 50 3.0 2
E 2~~~2 &QT9 E ~1~~~ &K98 3NS-1 50 6.0 1
W 2~~~2 W ~1~~~ 3NN-1 50 6.0 1
# 25 s QJT4 2SS-1-50 Mean: 3SN3 140 2.0 1 [|# 26 s 72 5SW7 -710 Mean: 7SW-1 100 140 1
v Q95 2SS-1-50 80  2SN3 140 20 2 v J9653 6SW6 -1430 -880  6SW-1 100 140 2
+ A865 Dif: 0 NS:-4 2SS2 110 1.0 3 * AT7 Dif: 720 NS:5 6NE-2 200 14.0 1
»T6 IMP: 0 EW:4 2SN2 110 1.0 4 » T82 IMP: 12 EW:11 2DE-1 100 140 1
» K87 53 1SN2 110 1.0 3 ||a AKJT9863 a5 5SW7 710 50 2
v J763 v AT 1SN1 80 00 1 ||w Ad2 + v KT7 4swW7 710 50 1
¢ Q3 ¢ KJT97 1NS1 90 00 1||e8 + KJ652 6SW7 -1460 -11.0 1
* KQJ9 » 7432 P 0 20 1 4 ~ AQJ3 6SW6 -1430 -11.0 9
% ¢ VAN 4,A%%2 28S-1 50 -40 2 FOVAN , Q4
N ~~12~ ¢ K842 N ~~~~~ »Q8
S ~~12~ ¢42 S ~~~~~ ¢ Q943
E 32~~~ &A85 E ~~~66 & K9765
W22~~~ W ~~~66
# 27 o AT92 2NS-3 -150 Mean: 2SW-4 200 60 1 ||#28 s Q4 3DS-3 -300 Mean: 1NXN1 180 9.0 1
v 84 3CE-150 -60 4DN4 130 50 1 v KQ2 4HW4 -420 -220  3NW-2 100 80 1
+ AB763 Dif: -200 NS:-3 3SN3 140 50 1 ¢ AJ3 Dif: 120 NS:-2 3NE-2 100 80 1
&T5 IMP: -5 EW:-3 3CE-1 50 30 1 & QJT76 IMP: 3 EW:5 2SE2 110 3.0 1
& J7653 ad 5DN-1 50 00 1||a75 a AKJ32 1NN-1 100 3.0 1
v AJ5 v T732 4SN-1 50 0.0 2 ||e AT876 | v J53 3HW4 470 2.0 1
¢ KT9 *5 3NS-1 50 0.0 1 ||e KQ62 ¢ 85 2SW3 140 20 2
& Q2 » AJ87643 3NN-1 50 0.0 1 ||as 43 » AK2 2SE3 140 20 2
% ¢ VAN ,KQ8 2NS-1 50 0.0 1 * ¢V AN ,T986 1NN-2 200 1.0 2
N ~4~21 v KQ6 3NS-2 100 10 1[N ~~~~~ v 94 3DS-3 300 20 1
S ~4~21 +QJ42 3NS-3 150 30 3 ||S ~~~~~ ¢ T974 4HW4 420 50 1
E 2~~~~ &K9 2NS-3 150 30 1||E ~~432 985 4HE4 420 50 2
W 2~~~n~ 3NS-4 200 -40 2 ||wW ~~432 2CXN-2  -500 -7.0 1
4SXN-2 300 6.0 1 2SXN-4  -1100 -13.0 1
# 29 4 A32 4SN-1-100 Mean: 4SN4 620 11.0 3 ||# 30 & KT42 3NN-2 -100 Mean: 4CXW-3 500 80 1
v AJ95 2SN3140 60  3HXW-1 200 40 1 v KT7 5DS-1-50 170  4SS6 480 7.0 1
+ KQ3 Dif: -240 NS:-4 3SN4 170 3.0 1 + QJ9 Dif: -50 NS:-7 4SN5 450 7.0 1
» KT8 IMP: -6 EW:-2 2SN3 140 20 1 » QT8 IMP: -2 EW:6 4SS4 420 6.0 2
45 ] A JT8 3CE-1 100 1.0 1 ||as J87 53 4SN4 420 6.0 2
v KQ86432 oT 48S-1 100 -40 1 ||w A92 v J65 4DS4 130 1.0 1
+ J96 + ¢ A72 4SN-1 100 -40 8 ||e AT ¢ 874 3DS4 130 1.0 1
& Q4 » AJ9752 4SXS-1 200 -6.0 1 ||a AJ932 » K7654 2Ds4 130 1.0 2
% ¢ V&N 4 KQI764 48S-2 200 6.0 1 % ¢V AN 4 AQI 3CW-1 50 3.0 1
N ~2~32 97 N ~5451 v Q843 5DS-1 50 6.0 2
S ~2~32 ¢T854 S ~5451 ¢ K6532 3NN-2 4100 -7.0 3
E 2~2~~ £63 E1~~~~ & 4HS-3 150 -8.0 1
W2-~2~-~ W 1~~~~




X AN >\ ¢ —_—
6 113 EXF 2 ABERFL>B 2 ==> RO 6
1 +
#1: 4 JBH(88.47) #2: 18 JFF9(85.06) #3: 7 LLIZE(76.64)
1 O NS: $3¥K ZEREIRERC) 21 3 NS: E¥3038 PEHRER(BHO) 7 VP:| 11.50 : 8.50 Total VP: 49.48 Rank:
EW: 13{EE FEE7=EH0) -7 EW: EBE\ X EE & (BAC) -2 IMP:| 39 35 13
S — — o
# 21 » Q7 3HW4 170 Mean: 3CN5 150 4.0 1 [[# 22 s A 5SE-1-100 Mean: 5HXS5 650 11.0 1
v Q7 3CN4 -130 10 4SE-2 100 3.0 1 v QT87 4SW5650 100 5CXN6 650 110 2
+ AQ64 Dif: 300 NS:3 4CN4 130 3.0 2 *2 Dif: -750 NS:-13 5CXN5 550 100 2
& AK982 IMP: 7 EW:5 3CS3 110 3.0 2 & AKJ8742 IMP: -13 EW:0 5SXE-2 500 9.0 1
s KJ #» AT632 3CN4 130 3.0 2 ||a K982 & T76543 5CN6 420 8.0 1
v JT9632 v A5 1NN2 120 3.0 2 [|w J2 — v A93 5CN5 400 7.0 1
¢ JT93 | + K852 2SE-1 50 1.0 1 ||e AKJ954 ¢+ Q3 5SE-2 200 30 1
*J » Q7 2SE2 110 30 1 ||a3 » Q5 5SE-1 100 00 2
% ¢ VAN 49854 3DE4 130 -40 1 *eVAN ,QJ 4SE-1 100 00 1
N 3~~~2 9vK84 2HW3 140 -40 2 |IN 5~ 4 ~ ~ « K654 5HXS-1 100 -5.0 1
S 3 ~~~~ o7 2DW4 130 -40 1||S 5~4~~ ¢ T876 6CXN-2 300 9.0 1
E ~321~ &T6543 3NN-2 200 50 1||E ~4~4~ &T96 4SE4 620 120 1
W ~321~ 3HW4 470 50 1 ||W ~4 ~4 ~ 5SW5 650 -13.0 2
4SW5 650 -13.0 1
# 23 & A9765 3NW-1-100 Mean: 3NW-2 200 50 2 ||#24 » J43 2SS4 -170 Mean: 4CXN4 510 8.0 1
v K3 3NW-1-100 o 3NW-1 100 3.0 8 v KQ975 3NS3 -400 170  3NS4 430 6.0 1
+ K7532 Dif: 0 NS:3 3NE-1 100 3.0 1 . Dif: 230 NS:6 3NS3 400 6.0 3
&2 IMP: 0 EW:-3 3CW-1 100 3.0 1 & QJT62 IMP: 6 EW:0 2SS4 170 00 1
» KQ83 a 42 3CE-1 100 3.0 1 ||a AQ72 ~ 65 4CN4 130 1.0 1
v AJT2 + v 54 3cws 110 3.0 3 || J642 v 783 csa 130 40 1
+ A6 * QJ94 3NW3 600 -12.0 2 ||e ATS ¢ QJ943 3CN4 130 1.0 1
& 743 S » AKJ85 a A7 543 2HN3 140 1.0 1
S VAN \JT %o VAN 4 KT8 3CN3 110 20 3
N ~~~~~ v Q9876 N 3~~319vA 3DW-1 50 3.0 1
S ~~~~~ ¢ T8 S 3 ~~31 ¢ K7652 INW-1 50 3.0 2
E 2~~~2 &QT9 E ~1~~~ &K98 3NS-1 50 6.0 1
W 2~~~2 W ~1~~~ 3NN-1 50 6.0 1
# 25 s QJT4 3SN3 -140 Mean: 3SN3 140 2.0 1 [|# 26 s 72 6SW6 1430 Mean: 7SW-1 100 140 1
v Q95 PO 80  2SN3 140 2.0 2 v J9653 7SW-1-100 -880 6SW-1 100 140 2
+ A865 Dif: -140 NsS:-2 2SS2 110 1.0 3 * AT7 Dif: 1530 NS:14 6NE-2 200 14.0 1
»T6 IMP: -4 EW:-2 2SN2 10 1.0 4 » T82 IMP: 17 EW:11 2DE-1 100 140 1
» K87 53 1SN2 110 1.0 3 ||a AKJT9863 a5 5SW7 710 50 2
v J763 v AT 1SN1 80 00 1 ||w Ad2 + v KT7 4SW7 710 50 1
¢ Q3 ¢ KJT97 1NS1 90 00 1||e8 + KJ652 6SW7 -1460 -11.0 1
* KQJ9 » 7432 P 0 20 1 4 ~ AQJ3 6SW6 1430 110 9
% ¢ VAN 4,A%%2 28S-1 50 -40 2 FeVAN o, QF
N ~~12~ ¢ K842 N ~~~~~ v Q8
S ~~12~ ¢42 S ~~~~~ ¢ Q943
E 32~~~ #A85 E ~~~66 &K9765
W22~~~ W ~~~66
# 27 o AT92 4DN4 -130 Mean: 2SW-4 200 60 1 ||#28 s Q4 4HE4 420 Mean: 1NXN1 180 9.0 1
v 84 2SW-4 -200 -60  4DN4 130 50 1 v KQ2 2SE3 140 -220 3NW-2 100 80 1
+ AB763 Dif: 70 NS:6 3SN3 140 50 1 ¢ AJ3 Dif: 280 NS:2 3NE-2 100 80 1
&T5 IMP: 2 EW:-5 3CE-1 50 30 1 & QJT76 IMP: 7 EW:5 2SE2 110 3.0 1
& J7653 ad 5DN-1 50 00 1||a75 a AKJ32 1NN-1 100 3.0 1
v AJ5 v T732 4SN-1 50 0.0 2 ||e AT876 | v J53 3HW4 470 2.0 1
¢ KT9 *5 3NS-1 50 0.0 1 ||e KQ62 ¢ 85 2SW3 140 20 2
& Q2 » AJ87643 3NN-1 50 0.0 1 ||a 43 » AK2 2SE3 140 20 2
% ¢ VAN ,KQ8 2NS-1 50 0.0 1 * ¢V AN ,T986 1NN-2 200 1.0 2
N ~4~21 v KQ6 3NS-2 100 10 1[N ~~~~~ v 94 3DS-3 300 20 1
S ~4~21 +QJ42 3NS-3 150 30 3 ||S ~~~~~ ¢ T974 4HW4 420 50 1
E 2~~~~ &K9 2NS-3 150 30 1||E ~~432 985 4HE4 420 50 2
W 2~~~n~ 3NS-4 200 -40 2 ||wW ~~432 2CXN-2  -500 -7.0 1
4SXN-2 300 6.0 1 2SXN-4  -1100 -13.0 1
# 29 4 A32 4SN4 -620 Mean: 4SN4 620 11.0 3 ||# 30 & KT42 4SS6 -480 Mean: 4CXW-3 500 80 1
v AJ95 3SN4 -170 60  3HXW-1 200 4.0 1 v KT7 4DS4 -130 170  4SS6 480 7.0 1
+ KQ3 Dif: -450 NS:3 3SN4 170 3.0 1 + QJ9 Dif: -350 NS:-1 4SN5 450 7.0 1
» KT8 IMP: -10 EW:-11 2SN3 140 20 1 » QT8 IMP: -8 EW:-7 4Ss4 420 6.0 2
45 ] A JT8 3CE-1 100 1.0 1 ||as J87 53 4SN4 420 6.0 2
v KQ86432 oT 48S-1 100 -40 1 ||w A92 v J65 4DS4 130 1.0 1
+ J96 + ¢ A72 4SN-1 100 -40 8 ||e AT ¢ 874 3DS4 130 1.0 1
& Q4 » AJ9752 4SXS-1 200 -6.0 1 ||a AJ932 » K7654 2Ds4 130 1.0 2
% ¢ V&N 4 KQI764 48S-2 200 6.0 1 % ¢V AN 4 AQI 3CW-1 50 3.0 1
N ~2~32 97 N ~5451 v Q843 5DS-1 50 6.0 2
S ~2~32 ¢T854 S ~5451 ¢ K6532 3NN-2 4100 -7.0 3
E 2~2~~ £63 E1~~~~ & 4HS-3 150 -8.0 1
W2-~2~-~ W 1~~~~




X AN >\ ¢ —_—
6 113 EXF 2 ABERFL>B 2 ==> RO 6
1 +
#1: 4 JBH(88.47) #2: 18 JFF9(85.06) #3: 7 LLIZE(76.64)
1 1 NS: FENER 2128 GH0) -21 1 5 NS: #EH BRIIEF(BAC) -1 VP:| 6.28 : 13.72| Total VP: 58.66 Rank:
EW: ShEE ZEBEEIC) 1 EW: 28X BER(BO) 21 IMP:| 13 24 1
S — — I
# 21 » Q7 3CN4 130 Mean: 3CN5 150 4.0 1 [[# 22 s A 5SW5 -650 Mean: 5HXS5 650 11.0 1
v Q7 2SE2 -110 10  4SE-2 100 3.0 1 v QT87 5CXN6 650 100  5CXN6 650 11.0 2
+ AQ64 Dif: 240 NS:3 4CN4 130 3.0 2 *2 Dif: 1300 NS:-13 5CXN5 550 100 2
& AK982 IMP: 6 EW:3 3CS3 110 3.0 2 & AKJ8742 IMP: -16 EW:-11 5SXE-2 500 9.0 1
s KJ #» AT632 3CN4 130 3.0 2 ||a K982 & T76543 5CN6 420 8.0 1
v JT9632 v A5 1NN2 120 3.0 2 [|w J2 — v A93 5CN5 400 7.0 1
¢ JT93 | + K852 2SE-1 50 1.0 1 ||e AKJ954 ¢+ Q3 5SE-2 200 30 1
*J » Q7 2SE2 110 30 1 ||a3 » Q5 5SE-1 100 00 2
% ¢ VAN 49854 3DE4 130 -40 1 *eVAN ,QJ 4SE-1 100 00 1
N 3~~~2 9vK84 2HW3 140 -40 2 |IN 5~ 4 ~ ~ « K654 5HXS-1 100 -5.0 1
S 3 ~~~~ o7 2DW4 130 -40 1||S 5~4~~ ¢ T876 6CXN-2 300 9.0 1
E ~321~ &T6543 3NN-2 200 50 1||E ~4~4~ &T96 4SE4 620 120 1
W ~321~ 3HW4 470 50 1 ||W ~4 ~4 ~ 5SW5 650 -13.0 2
4SW5 650 -13.0 1
# 23 & A9765 3NW-1 100 Mean: 3NW-2 200 50 2 ||#24 » J43 3CN3 110 Mean: 4CXN4 510 8.0 1
v K3 3CW-1100 o0 3NW-1 100 3.0 8 v KQ975 4CN4 130 170  3NS4 430 6.0 1
+ K7532 Dif: 0 NS:3 3NE-1 100 3.0 1 . Dif: 20 NS:-2 3NS3 400 6.0 3
&2 IMP: 0 EW:-3 3CW-1 100 3.0 1 & QJT62 IMP: -1 EW:1 2SS4 170 00 1
» KQ83 a 42 3CE-1 100 3.0 1 ||a AQ72 ~ 65 4CN4 130 1.0 1
v AJT2 + v 54 3cws 110 3.0 3 || J642 v T83 csa 130 40 1
+ A6 * QJ94 3NW3 600 -12.0 2 ||e ATS ¢ QJ943 3CN4 130 1.0 1
& 743 S » AKJ85 a A7 543 2HN3 140 1.0 1
S VAN \JT %o VAN 4 KT8 3CN3 110 20 3
N ~~~~~ v Q9876 N 3~~319vA 3DW-1 50 3.0 1
S ~~~~~ ¢ T8 S 3 ~~31 ¢ K7652 INW-1 50 3.0 2
E 2~~~2 &QT9 E ~1~~~ &K98 3NS-1 50 6.0 1
W 2~~~2 W ~1~~~ 3NN-1 50 6.0 1
# 25 s QJT4 2SN3 140 Mean: 3SN3 140 2.0 1 [|# 26 s 72 6SW6 -1430 Mean: 7SW-1 100 140 1
v Q95 2SN2110 80  2SN3 140 20 2 v J9653 6SW6 -1430 -880 6SW-1 100 140 2
+ A865 Dif: 30 NsS:2 2sS2 110 1.0 3 * AT7 Dif: 0 NS:-11 6NE-2 200 14.0 1
»T6 IMP: 1 EW:-1  2SN2 110 1.0 4 » T82 IMP: 0 EW:11 2DE-1 100 140 1
» K87 53 1SN2 110 1.0 3 ||a AKJT9863 a5 5SW7 710 50 2
v J763 v AT 1SN1 80 00 1 ||w Ad2 + v KT7 4swW7 710 50 1
¢ Q3 ¢ KJT97 1NS1 90 00 1||e8 + KJ652 6SW7 -1460 -11.0 1
* KQJ9 » 7432 P 0 20 1 4 ~ AQJ3 6SW6 1430 110 9
% ¢ VAN 4,A%%2 28S-1 50 -40 2 FOVAN , Q4
N ~~12~ ¢ K842 N ~~~~~ v Q8
S ~~12~ ¢42 S ~~~~~ ¢ Q943
E 32~~~ &A85 E ~~~66 & K9765
W22~~~ W ~~~66
# 27 o AT92 4SN-1-50 Mean: 2SW-4 200 60 1 ||#28 s Q4 2SW3 -140 Mean: 1NXN1 180 9.0 1
v 84 3NS-3-150 -60  4DN4 130 50 1 v KQ2 2SW3 =140 -220 3NW-2 100 80 1
+ AB763 Dif: 100 NS:0 3SN3 140 50 1 ¢ AJ3 Dif: 0 NS:2 3NE-2 100 80 1
&T5 IMP: 3 EW:3 3CE-1 50 30 1 & QJT76 IMP: 0 EW:-2 2SE2 110 3.0 1
& J7653 ad 5DN-1 50 00 1||a75 a AKJ32 1NN-1 100 3.0 1
v AJ5 v T732 4SN-1 50 0.0 2 ||e AT876 | v J53 3HW4 470 2.0 1
¢ KT9 *5 3NS-1 50 0.0 1 ||e KQ62 ¢ 85 2SW3 140 20 2
& Q2 » AJ87643 3NN-1 50 0.0 1 ||a 43 » AK2 2SE3 140 20 2
% ¢ VAN ,KQ8 2NS-1 50 0.0 1 * ¢V AN ,T986 1NN-2 200 1.0 2
N ~4~21 v KQ6 3NS-2 100 10 1[N ~~~~~ v 94 3DS-3 300 20 1
S ~4~21 +QJ42 3NS-3 150 30 3 ||S ~~~~~ ¢ T974 4HW4 420 50 1
E 2~~~~ &K9 2NS-3 150 30 1||E ~~432 985 4HE4 420 50 2
W 2~~~n~ 3NS-4 200 -40 2 ||wW ~~432 2CXN-2  -500 -7.0 1
4SXN-2 300 6.0 1 2SXN-4  -1100 -13.0 1
# 29 4 A32 4SN-1-100 Mean: 4SN4 620 11.0 3 ||# 30 & KT42 3DS4 130 Mean: 4CXW-3 500 80 1
v AJ95 4SS-2-200 60  3HXW-1 200 4.0 1 v KT7 4S5S4 420 170  4SS6 480 7.0 1
+ KQ3 Dif: 100 NS:-4 3SN4 170 3.0 1 + QJ9 Dif: -290 NS:-1 4SN5 450 7.0 1
» KT8 IMP: 3 EW:6 2SN3 140 20 1 » QT8 IMP: -7 EW:-6 4SS4 420 6.0 2
45 ] A JT8 3CE-1 100 1.0 1 ||as J87 53 4SN4 420 6.0 2
v KQ86432 oT 48S-1 100 -40 1 ||w A92 v J65 4DS4 130 1.0 1
+ J96 + ¢ A72 4SN-1 100 -40 8 ||e AT ¢ 874 3DS4 130 1.0 1
& Q4 » AJ9752 4SXS-1 200 -6.0 1 ||a AJ932 » K7654 2Ds4 130 1.0 2
% ¢ V&N 4 KQI764 48S-2 200 6.0 1 % ¢V AN 4 AQI 3CW-1 50 3.0 1
N ~2~32 97 N ~5451 v Q843 5DS-1 50 6.0 2
S ~2~32 ¢T854 S ~5451 ¢ K6532 3NN-2 4100 -7.0 3
E 2~2~~ £63 E1~~~~ & 4HS-3 150 -8.0 1
W2-~2~-~ W 1~~~~




X AN >\ ¢ —_—
6 113 EXF 2 ABERFL>B 2 ==> RO 6
1 +
#1: 4 JBH(88.47) #2: 18 JFF9(85.06) #3: 7 LLIZE(76.64)
1 2 NS: ¥igkz BREIEEAC) -30 6 NS: HBE £RA(FO) 3 VP:| 3.61 16.39| Total VP: 34.43 Rank:
EW: EEH BRBEIO) -3 EW: [REHE =int(BAC) 30 IMP:| 18 40 18
S — - — -
# 21 » Q7 2HW3 140 Mean: 3CN5 150 4.0 1 [[# 22 s A 5HXS5 -650 Mean: 5HXS5 650 11.0 1
v Q7 3DE4130 10  4SE-2 100 3.0 1 v QT87 4SE4 620 100  5CXN6 650 11.0 2
+ AQ64 Dif: 10 NS:-4 4CN4 130 3.0 2 *2 Dif: 1270 NS:-12 5CXN5 550 100 2
& AK982 IMP: 0 EW:4 3CS3 110 3.0 2 & AKJ8742 IMP: -15 EW:-11 5SXE-2 500 9.0 1
s KJ #» AT632 3CN4 130 3.0 2 ||a K982 & T76543 5CN6 420 8.0 1
v JT9632 v A5 1NN2 120 3.0 2 [|w J2 — v A93 5CN5 400 7.0 1
¢ JT93 | + K852 2SE-1 50 1.0 1 ||e AKJ954 ¢+ Q3 5SE-2 200 30 1
*J » Q7 2SE2 110 30 1 ||a3 » Q5 5SE-1 100 00 2
% ¢ VAN 49854 3DE4 130 -40 1 *eVAN ,QJ 4SE-1 100 00 1
N 3~~~2 9vK84 2HW3 140 -40 2 |IN 5~ 4 ~ ~ « K654 5HXS-1 100 -5.0 1
S 3 ~~~~ o7 2DW4 130 -40 1||S 5~4~~ ¢ T876 6CXN-2 300 9.0 1
E ~321~ &T6543 3NN-2 200 50 1||E ~4~4~ &T96 4SE4 620 120 1
W ~321~ 3HW4 470 50 1 ||W ~4 ~4 ~ 5SW5 650 -13.0 2
4SW5 650 -13.0 1
# 23 & A9765 3NW-1-100 Mean: 3NW-2 200 50 2 ||#24 » J43 3DW-1-50 Mean: 4CXN4 510 8.0 1
v K3 3NW3 600 © 3NW-1 100 3.0 8 v KQ975 1NW-1-50 170  3NS4 430 6.0 1
+ K7532 Dif: -700 NS:-12 3NE-1 100 3.0 1 . Dif: 0 NS:-3 3NS3 400 6.0 3
&2 IMP: -12 EW:-3 3CW-1 100 3.0 1 & QJT62 IMP: 0 EW:3 2SS4 170 00 1
» KQ83 a 42 3CE-1 100 3.0 1 ||a AQ72 ~ 65 4CN4 130 1.0 1
v AJT2 + v 54 3cws 110 3.0 3 || J642 v T83 csa 130 40 1
+ A6 * QJ94 3NW3 600 -12.0 2 ||e ATS ¢ QJ943 3CN4 130 1.0 1
& 743 S » AKJ85 a A7 543 2HN3 140 1.0 1
S VAN \JT %o VAN 4 KT8 3CN3 110 20 3
N ~~~~~ v Q9876 N 3~~319vA 3DW-1 50 3.0 1
S ~~n~~~ oT8 S 3 ~~31 ¢ K7652 INW-1 50 3.0 2
E 2~~~2 &QT9 E ~1~~~ &K98 3NS-1 50 6.0 1
W 2~~~2 W ~1~~~ 3NN-1 50 6.0 1
# 25 s QJT4 1NS1-90 Mean: 3SN3 140 2.0 1 [|# 26 s 72 6SW6 1430 Mean: 7SW-1 100 140 1
v Q95 2SS2-110 80  2SN3 140 20 2 v J9653 5SW7 710 -880  6SW-1 100 140 2
+ A865 Dif: 20 NS:1  2SS2 110 1.0 3 * AT7 Dif: 720 NS:5 6NE-2 200 14.0 1
»T6 IMP: 1 EW:0 2SN2 110 1.0 4 » T82 IMP: 12 EW:11 2DE-1 100 140 1
» K87 53 1SN2 110 1.0 3 ||a AKJT9863 a5 5SW7 710 50 2
v J763 v AT 1SN1 80 00 1 ||w Ad2 + v KT7 4swW7 710 50 1
¢ Q3 ¢ KJT97 1NS1 90 00 1||e8 + KJ652 6SW7 -1460 -11.0 1
* KQJ9 » 7432 P 0 20 1 4 ~ AQJ3 6SW6 1430 110 9
% ¢ VAN 4,A%%2 28S-1 50 -40 2 FOVAN , Q4
N ~~12~ ¢ K842 N ~~~~~ »Q8
S ~~12~ ¢42 S ~~~~~ ¢ Q943
E 32~~~ #A85 E ~~~66 &K9765
W22~~~ W ~~~66
# 27 o AT92 3NN-1 50 Mean: 2SW-4 200 60 1 ||#28 s Q4 2SE2 110 Mean: 1NXN1 180 9.0 1
v 84 2NS-150 -60  4DN4 130 50 1 v KQ2 2SE3 140 -220 3NW-2 100 80 1
+ AB763 Dif: 0 NS:0 3SN3 140 50 1 ¢ AJ3 Dif: -30 NS:2 3NE-2 100 80 1
&T5 IMP: 0 EW:0 3CE-1 50 30 1 & QJT76 IMP: -1 EW:-3 2SE2 110 3.0 1
& J7653 ad 5DN-1 50 00 1||a75 a AKJ32 1NN-1 100 3.0 1
v AJ5 v T732 4SN-1 50 0.0 2 ||e AT876 | v J53 3HW4 470 2.0 1
¢ KT9 *5 3NS-1 50 0.0 1 ||e KQ62 ¢ 85 2SW3 140 20 2
& Q2 » AJ87643 3NN-1 50 0.0 1 ||a 43 » AK2 2SE3 140 20 2
% ¢ VAN ,KQ8 2NS-1 50 0.0 1 * ¢V AN ,T986 1NN-2 200 1.0 2
N ~4~21 v KQ6 3NS-2 100 10 1[N ~~~~~ v 94 3DS-3 300 20 1
S ~4~21 +QJ42 3NS-3 150 30 3 ||S ~~~~~ ¢ T974 4HW4 420 50 1
E 2~~~~ &K9 2NS-3 150 30 1||E ~~432 985 4HE4 420 50 2
W 2~~~n~ 3NS-4 200 -40 2 ||wW ~~432 2CXN-2  -500 -7.0 1
4SXN-2 300 6.0 1 2SXN-4  -1100 -13.0 1
# 29 4 A32 4SN-1 100 Mean: 4SN4 620 11.0 3 ||# 30 & KT42 4CXW-3 -500 Mean: 4CXW-3 500 80 1
v AJ95 3CE-1-100 60  3HXW-1 200 40 1 v KT7 4HS-3150 170  4SS6 480 7.0 1
+ KQ3 Dif: 200 NS:1  3SN4 170 3.0 1 + QJ9 Dif: -650 NS:-8 4SN5 450 7.0 1
» KT8 IMP: 5 EW:4 2SN3 140 20 1 » QT8 IMP: -12 EW:-8 4SS4 420 6.0 2
45 ] A JT8 3CE-1 100 1.0 1 ||as J87 53 4SN4 420 6.0 2
v KQ86432 oT 48S-1 100 -40 1 ||w A92 v J65 4DS4 130 1.0 1
+ J96 + ¢ A72 4SN-1 100 -40 8 ||e AT ¢ 874 3DS4 130 1.0 1
& Q4 » AJ9752 4SXS-1 200 -6.0 1 ||a AJ932 » K7654 2Ds4 130 1.0 2
% ¢ V&N 4 KQI764 48S-2 200 6.0 1 % ¢V AN 4 AQI 3CW-1 50 3.0 1
N ~2~32 97 N ~5451 v Q843 5DS-1 50 6.0 2
S ~2~32 ¢T854 S ~5451 ¢ K6532 3NN-2 4100 -7.0 3
E 2~2~~ £63 E1~~~~ & 4HS-3 150 -8.0 1
W2-~2~-~ W 1~~~~




X AN >\ ¢ —_—
6 113 EXF 2 ABERFL>B 2 ==> RO 6
1 +
#1: 4 JEH (88.47) #2: 18 [F54(85.06) #3: 7 LLI*5(76.64)
1 3 NS: T &3 EffEEI0) -11 1 7 NS: BRIERE FEE3R(BAC) -6 VP:| 4.25 15.75| Total VP: 42.97 Rank:
EW: B4 ZERZEIC) 6 EW: 2851 M #51H(BO) 11 IMP:| 29 48 15
S — — —
# 21 » Q7 3NN-2 -200 Mean: 3CN5 150 4.0 1 [[# 22 s A 4SE-1 100 Mean: 5HXS5 650 11.0 1
v Q7 2DW4 -130 10  4SE-2 100 3.0 1 v QT87 5CXN5 550 100  5CXN6 650 11.0 2
+ AQ64 Dif: -70 NS:-5 4CN4 130 3.0 2 *2 Dif: -450 NS:0 5CXN5 550 100 2
& AK982 IMP: -2 EW:4 3CS3 110 3.0 2 & AKJ8742 IMP: -10 EW:-10 5SXE-2 500 9.0 1
s KJ #» AT632 3CN4 130 3.0 2 ||a K982 & T76543 5CN6 420 8.0 1
v JT9632 v A5 1NN2 120 3.0 2 [|w J2 — v A93 5CN5 400 7.0 1
¢ JT93 | + K852 2SE-1 50 1.0 1 ||e AKJ954 ¢+ Q3 5SE-2 200 30 1
*J » Q7 2SE2 110 30 1 ||a3 » Q5 5SE-1 100 00 2
% ¢ VAN 49854 3DE4 130 -40 1 *eVAN ,QJ 4SE-1 100 00 1
N 3~~~2 9vK84 2HW3 140 -40 2 |IN 5~ 4 ~ ~ « K654 5HXS-1 100 -5.0 1
S 3 ~~~~ o7 2DW4 130 -40 1||S 5~4~~ ¢ T876 6CXN-2 300 9.0 1
E ~321~ &T6543 3NN-2 200 50 1||E ~4~4~ &T96 4SE4 620 120 1
W ~321~ 3HW4 470 50 1 ||W ~4 ~4 ~ 5SW5 650 -13.0 2
4SW5 650 -13.0 1
# 23 & A9765 3CW3 -110 Mean: 3NW-2 200 50 2 ||#24 » J43 3NN-1-50 Mean: 4CXN4 510 8.0 1
v K3 3NW-2200 © 3NW-1 100 3.0 8 v KQ975 3CN3110 170  3NS4 430 6.0 1
+ K7532 Dif: -310 NS:-3 3NE-1 100 3.0 1 . Dif: -160 NS:-6 3NS3 400 6.0 3
&2 IMP: -7 EW:-5 3CW-1 100 3.0 1 & QJT62 IMP: -4 EW:2 2SS4 170 00 1
» KQ83 a 42 3CE-1 100 3.0 1 ||a AQ72 ~ 65 4CN4 130 1.0 1
v AJT2 + v 54 3cws 110 3.0 3 || J642 v 783 csa 130 40 1
+ A6 * QJ94 3NW3 600 -12.0 2 ||e ATS ¢ QJ943 3CN4 130 1.0 1
& 743 S » AKJ85 a A7 543 2HN3 140 1.0 1
S VAN \JT %o VAN 4 KT8 3CN3 110 20 3
N ~~~~~ v Q9876 N 3~~319vA 3DW-1 50 3.0 1
S ~~n~~~ oT8 S 3 ~~31 ¢ K7652 INW-1 50 3.0 2
E 2~~~2 &QT9 E ~1~~~ &K98 3NS-1 50 6.0 1
W 2~~~2 W ~1~~~ 3NN-1 50 6.0 1
# 25 s QJT4 2SN2 110 Mean: 3SN3 140 2.0 1 [|# 26 s 72 6SW-1100 Mean: 7SW-1 100 140 1
v Q95 2SS2110 80  2SN3 140 20 2 v J9653 6SW6 -1430 -880  6SW-1 100 140 2
+ A865 Dif: 0 NS:1 2SS2 110 1.0 3 * AT7 Dif: 1530 NS:14 6NE-2 200 14.0 1
»T6 IMP: 0 EW:-1 2SN2 110 1.0 4 » T82 IMP: 17 EW:11 2DE-1 100 140 1
» K87 53 1SN2 110 1.0 3 ||a AKJT9863 a5 5SW7 710 50 2
v J763 v AT 1SN1 80 00 1 ||w Ad2 + v KT7 4swW7 710 50 1
¢ Q3 ¢ KJT97 1NS1 90 00 1||e8 + KJ652 6SW7 -1460 -11.0 1
* KQJ9 » 7432 P 0 20 1 4 ~ AQJ3 6SW6 -1430 -11.0 9
% ¢ VAN 4,A%%2 28S-1 50 -40 2 FOVAN , Q4
N ~~12~ ¢ K842 N ~~~~~ »Q8
S ~~12~ ¢42 S ~~~~~ ¢ Q943
E 32~~~ &A85 E ~~~66 & K9765
W22~~~ W ~~~66
# 27 o AT92 3NS-3 -150 Mean: 2SW-4 200 60 1 ||#28 s Q4 2SXN-4 -1100 Mean: 1NXN1 180 9.0 1
v 84 3SN3140 -60  4DN4 130 50 1 v KQ2 4HE4 -420 -220 3NW-2 100 80 1
+ AB763 Dif: -290 NS:-3 3SN3 140 50 1 ¢ AJ3 Dif: -680 NS:-13 3NE-2 100 80 1
&T5 IMP: -7 EW:-5 3CE-1 50 30 1 & QJT76 IMP: -12 EW:5 2SE2 110 3.0 1
& J7653 ad 5DN-1 50 00 1||a75 a AKJ32 1NN-1 100 3.0 1
v AJ5 v T732 4SN-1 50 0.0 2 ||e AT876 | v J53 3HW4 470 2.0 1
¢ KT9 *5 3NS-1 50 0.0 1 ||e KQ62 ¢ 85 2SW3 140 20 2
& Q2 » AJ87643 3NN-1 50 0.0 1 ||as 43 » AK2 2SE3 140 20 2
% ¢ VAN ,KQ8 2NS-1 50 0.0 1 * ¢V AN ,T986 1NN-2 200 1.0 2
N ~4~21 v KQ6 3NS-2 400 10 1 |[N ~~~~~ v 94 3DS-3 300 20 1
S ~4~21 +QJ42 3NS-3 150 30 3 ||S ~~~~~ ¢ T974 4HW4 420 50 1
E 2~~~~ &K9 2NS-3 150 30 1||E ~~432 985 4HE4 420 50 2
W 2~~~n~ 3NS-4 200 -40 2 ||wW ~~432 2CXN-2  -500 -7.0 1
4SXN-2 300 6.0 1 2SXN-4  -1100 -13.0 1
# 29 4 A32 4SN4 620 Mean: 4SN4 620 11.0 3 ||# 30 & KT42 3NN-2 -100 Mean: 4CXW-3 500 80 1
v AJ95 4SN-1-100 60  3HXW-1 200 40 1 v KT7 2DS4 130 170  4SS6 480 7.0 1
+ KQ3 Dif: 720 NS:11 3SN4 170 3.0 1 + QJ9 Dif: -230 NS:-7 4SN5 450 7.0 1
» KT8 IMP: 12 EW:4 2SN3 140 20 1 » QT8 IMP: -6 EW:1 4Ss4 420 6.0 2
45 ] A JT8 3CE-1 100 1.0 1 ||as J87 53 4SN4 420 6.0 2
v KQ86432 oT 48S-1 100 -40 1 ||w A92 v J65 4DS4 130 1.0 1
+ J96 + ¢ A72 4SN-1 100 -40 8 ||e AT ¢ 874 3DS4 130 1.0 1
* Q4 » AJ9752 4SXS-1 200 -6.0 1 ||a AJ932 » K7654 2Ds4 130 1.0 2
% ¢ V&N 4 KQI764 48S-2 200 6.0 1 % ¢V AN 4 AQI 3CW-1 50 3.0 1
N ~2~32 97 N ~5451 v Q843 5DS-1 50 6.0 2
S ~2~32 ¢T854 S ~5451 ¢ K6532 3NN-2 4100 -7.0 3
E 2~2~~ £63 E1~~~~ & 4HS-3 150 -8.0 1
W2-~2~-~ W 1~~~~




S ' AN jrir- _ 6
6 113&; «1 &Wﬁﬁm% e ==> R6
1 4 NS: EsE %*E@(Eﬁ@ -6 1 NS: #t= E?ﬁi&(ﬁﬁO) -14 VP:| 11.85 : 8.15 Total VP: 61.55 Rank:
EW: K& BEZEEEHO) 15 EW: %58 E&FE(BIC) 6 IMP:| 18 13 8
S — —
# 21 » Q7 4CN4 -130 Mean: 3CN5 150 4.0 1 [[# 22 s A 5CN6 -420 Mean: 5HXS5 650 11.0 1
v Q7 1NN2 -120 10  4SE-2 100 3.0 1 v QT87 5SE-2 -200 100  5CXN6 650 11.0 2
+ AQ64 Dif: 10 NS:3 4CN4 130 3.0 2 *2 Dif: -220 NS:3 5CXN5 550 100 2
& AK982 IMP: 0 EW:-3 3CS3 110 3.0 2 & AKJ8742 IMP: -6 EW:-8 5SXE-2 500 9.0 1
s KJ #» AT632 3CN4 130 3.0 2 ||a K982 & T76543 5CN6 420 8.0 1
v JT9632 v A5 1NN2 120 3.0 2 [|w J2 — v A93 5CN5 400 7.0 1
¢ JT93 | + K852 2SE-1 50 1.0 1 ||e AKJ954 ¢+ Q3 5SE-2 200 30 1
*J » Q7 2SE2 110 30 1 ||a3 » Q5 5SE-1 100 00 2
% ¢ VAN 49854 3DE4 130 -40 1 *eVAN ,QJ 4SE-1 100 00 1
N 3~~~2 9vK84 2HW3 140 -40 2 |IN 5~ 4 ~ ~ « K654 5HXS-1 100 -5.0 1
S 3 ~~~~ o7 2DW4 130 -40 1||S 5~4~~ ¢ T876 6CXN-2 300 9.0 1
E ~321~ &T6543 3NN-2 200 50 1||E ~4~4~ &T96 4SE4 620 120 1
W ~321~ 3HW4 470 50 1 ||W ~4 ~4 ~ 5SW5 650 -13.0 2
4SW5 650 -13.0 1
# 23 & A9765 3CW3 110 Mean: 3NW-2 200 50 2 ||#24 » J43 1NW-1 -50 Mean: 4CXN4 510 8.0 1
v K3 3NW-1-100 o 3NW-1 100 3.0 8 v KQ975 3NS3 -400 170  3NS4 430 6.0 1
+ K7532 Dif: 210 NS:3  3NE-1 100 3.0 1 . Dif: 350 NS:6 3NS3 400 6.0 3
&2 IMP: 5 EW:3 3CW-1 100 3.0 1 & QJT62 IMP: 8 EW:3 2SS4 170 00 1
» KQ83 a 42 3CE-1 100 3.0 1 ||a AQ72 ~ 65 4CN4 130 1.0 1
v AJT2 + v 54 3cws 110 3.0 3 || J642 v 783 csa 130 40 1
+ A6 * QJ94 3NW3 600 -12.0 2 ||e ATS ¢ QJ943 3CN4 130 1.0 1
& 743 S » AKJ85 a A7 543 2HN3 140 1.0 1
S VAN \JT %o VAN 4 KT8 3CN3 110 20 3
N ~~~~~ v Q9876 N 3~~319vA 3DW-1 50 3.0 1
S ~~n~~~ oT8 S 3 ~~31 ¢ K7652 INW-1 50 3.0 2
E 2~~~2 &QT9 E ~1~~~ &K98 3NS-1 50 6.0 1
W 2~~~2 W ~1~~~ 3NN-1 50 6.0 1
# 25 s QJT4 1SN2 -110 Mean: 3SN3 140 2.0 1 [|# 26 s 72 6SW6 1430 Mean: 7SW-1 100 140 1
v Q95 2SN2-110 80  2SN3 140 20 2 v J9653 6SW6 1430 -880 6SW-1 100 140 2
+ A865 Dif: 0 NS:1 2SS2 110 1.0 3 * AT7 Dif: 0 NS:-11 6NE-2 200 14.0 1
»T6 IMP: 0 EW:-1 2SN2 110 1.0 4 » T82 IMP: 0 EW:11 2DE-1 100 140 1
» K87 53 1SN2 110 1.0 3 ||a AKJT9863 a5 5SW7 710 50 2
v J763 v AT 1SN1 80 00 1 ||w Ad2 + v KT7 4swW7 710 50 1
¢ Q3 ¢ KJT97 1NS1 90 00 1||e8 + KJ652 6SW7 -1460 -11.0 1
* KQJ9 » 7432 P 0 20 1 4 ~ AQJ3 6SW6 -1430 -11.0 9
% ¢ VAN 4,A%%2 28S-1 50 -40 2 FOVAN , Q4
N ~~12~ vK842 N ~~~~~ vQ8
S ~~12~ ¢42 S ~~~~~ ¢ Q943
E 32~~~ #A85 E ~~~66 &K9765
W22~~~ W ~~~66
# 27 o AT92 4SXN-2 300 Mean: 2SW-4 200 60 1 ||#28 s Q4 1NN-1 100 Mean: 1NXN1 180 9.0 1
v 84 3NS-2100 -60  4DN4 130 50 1 v KQ2 1NN-2 200 -220 3NW-2 100 80 1
+ AB763 Dif: 200 NS:-1  3SN3 140 50 1 ¢ AJ3 Dif: -100 NS:1 3NE-2 100 80 1
&T5 IMP: 5 EW:6 3CE-1 50 30 1 & QJT76 IMP: -3 EW:-3 2SE2 110 3.0 1
& J7653 ad 5DN-1 50 00 1||a75 a AKJ32 1NN-1 100 3.0 1
v AJ5 v T732 4SN-1 50 0.0 2 ||e AT876 | v J53 3HW4 470 2.0 1
¢ KT9 *5 3NS-1 50 0.0 1 ||e KQ62 ¢ 85 2SW3 140 20 2
& Q2 » AJ87643 3NN-1 50 0.0 1 ||as 43 » AK2 2SE3 140 20 2
% ¢ VAN ,KQ8 2NS-1 50 0.0 1 * ¢V AN ,T986 1NN-2 200 1.0 2
N ~4~21 v KQ6 3NS-2 100 10 1[N ~~~~~ v 94 3DS-3 300 20 1
S ~4~21 +QJ42 3NS-3 150 30 3 ||S ~~~~~ ¢ T974 4HW4 420 50 1
E 2~~~~ &K9 2NS-3 150 30 1||E ~~432 985 4HE4 420 50 2
W 2~~~n~ 3NS-4 200 -40 2 ||wW ~~432 2CXN-2  -500 -7.0 1
4SXN-2 300 6.0 1 2SXN-4  -1100 -13.0 1
# 29 4 A32 4SS-1 100 Mean: 4SN4 620 11.0 3 ||# 30 & KT42 3CW-1-50 Mean: 4CXW-3 500 80 1
v AJ95 4SN-1100 60  3HXW-1 200 40 1 v KT7 3NN-2 100 170  4SS6 480 7.0 1
+ KQ3 Dif: 0 NS:-4 3SN4 170 3.0 1 + QJ9 Dif: -150 NS:-7 4SN5 450 7.0 1
» KT8 IMP: 0 EW:4 2SN3 140 20 1 » QT8 IMP: -4 EW:3 4Ss4 420 6.0 2
45 ] A JT8 3CE-1 100 1.0 1 ||as J87 53 4SN4 420 6.0 2
v KQ86432 oT 48S-1 100 -40 1 ||w A92 v J65 4DS4 130 1.0 1
+ J96 + ¢ A72 4SN-1 100 -40 8 ||e AT ¢ 874 3DS4 130 1.0 1
& Q4 » AJ9752 4SXS-1 200 -6.0 1 ||a AJ932 » K7654 2Ds4 130 1.0 2
% ¢ V&N 4 KQI764 48S-2 200 6.0 1 % ¢V AN 4 AQI 3CW-1 50 3.0 1
N ~2~32 97 N ~5451 v Q843 5DS-1 50 6.0 2
S ~2~32 ¢T854 S ~5451 ¢ K6532 3NN-2 4100 -7.0 3
E 2~2~~ £63 E1~~~~ & 4HS-3 150 -8.0 1
W2-~2~-~ W 1~~~~




X AN >\ ¢ —_—
6 113 EXF 2 ABERFL>B 2 ==> RO 6
1 +
#1: 4 JBH(88.47) #2: 18 JFF9(85.06) #3: 7 LLIZE(76.64)
1 5 NS: #ES BRILEREIC) -1 11 NS: #ElIEF] 21515(BRO) -2 VP:| 13.72 : 6.28 Total VP: 75.61 Rank:
EW: X3 FEEEIO0) 21 EW: 2BiEiE EER(BAC) 1 IMP:| 24 13 5
S — — -
# 21 » Q7 3CN4 -130 Mean: 3CN5 150 4.0 1 [[# 22 s A 5SW5 650 Mean: 5HXS5 650 11.0 1
v Q7 2SE2110 10  4SE-2 100 3.0 1 v QT87 5CXN6 -650 100  5CXN6 650 11.0 2
+ AQ64 Dif: -240 NS:-3 4CN4 130 3.0 2 *2 Dif: 1300 NS:11 5CXN5 550 100 2
& AK982 IMP: -6 EW:-3 3CS3 110 3.0 2 & AKJ8742 IMP: 16 EW:13 5SXE-2 500 9.0 1
s KJ #» AT632 3CN4 130 3.0 2 ||a K982 & T76543 5CN6 420 8.0 1
v JT9632 v A5 1NN2 120 3.0 2 [|w J2 — v A93 5CN5 400 7.0 1
¢ JT93 | + K852 2SE-1 50 1.0 1 ||e AKJ954 ¢+ Q3 5SE-2 200 30 1
*J » Q7 2SE2 110 30 1 ||a3 » Q5 5SE-1 100 00 2
% ¢ VAN 49854 3DE4 130 -40 1 *eVAN ,QJ 4SE-1 100 00 1
N 3~~~2 9vK84 2HW3 140 -40 2 |IN 5~ 4 ~ ~ « K654 5HXS-1 100 -5.0 1
S 3 ~~~~ o7 2DW4 130 -40 1||S 5~4~~ ¢ T876 6CXN-2 300 9.0 1
E ~321~ &T6543 3NN-2 200 50 1||E ~4~4~ &T96 4SE4 620 120 1
W ~321~ 3HW4 470 50 1 ||W ~4 ~4 ~ 5SW5 650 -13.0 2
4SW5 650 -13.0 1
# 23 & A9765 3NW-1-100 Mean: 3NW-2 200 50 2 ||#24 » J43 3CN3 -110 Mean: 4CXN4 510 8.0 1
v K3 3CW-1-100 0 3NW-1 100 3.0 8 v KQ975 4CN4 -130 170  3NS4 430 6.0 1
+ K7532 Dif: 0 NS:3 3NE-1 100 3.0 1 . Dif: 20 NS:-1  3NS3 400 6.0 3
&2 IMP: 0 EW:-3 3CW-1 100 3.0 1 & QJT62 IMP: 1 EW:2 2SS4 170 00 1
» KQ83 a 42 3CE-1 100 3.0 1 ||a AQ72 ~ 65 4CN4 130 1.0 1
v AJT2 + v 54 3cws 110 3.0 3 || J642 v T83 csa 130 40 1
+ A6 * QJ94 3NW3 600 -12.0 2 ||e ATS ¢ QJ943 3CN4 130 1.0 1
& 743 S » AKJ85 a A7 543 2HN3 140 1.0 1
S VAN \JT %o VAN 4 KT8 3CN3 110 20 3
N ~~~~~ v Q9876 N 3~~319vA 3DW-1 50 3.0 1
S ~~~~~ ¢ T8 S 3 ~~31 ¢ K7652 INW-1 50 3.0 2
E 2~~~2 &QT9 E ~1~~~ &K98 3NS-1 50 6.0 1
W 2~~~2 W ~1~~~ 3NN-1 50 6.0 1
# 25 s QJT4 2SN3 -140 Mean: 3SN3 140 2.0 1 [|# 26 s 72 6SW6 1430 Mean: 7SW-1 100 140 1
v Q95 2SN2-110 80  2SN3 140 20 2 v J9653 6SW6 1430 -880 6SW-1 100 140 2
+ A865 Dif: -30 NS:1  2SS2 110 1.0 3 * AT7 Dif: 0 NS:-11 6NE-2 200 14.0 1
»T6 IMP: -1 EW:-2 2SN2 110 1.0 4 » T82 IMP: 0 EW:11 2DE-1 100 140 1
» K87 53 1SN2 110 1.0 3 ||a AKJT9863 a5 5SW7 710 50 2
v J763 v AT 1SN1 80 00 1 ||w Ad2 + v KT7 4swW7 710 50 1
¢ Q3 ¢ KJT97 1NS1 90 00 1||e8 + KJ652 6SW7 -1460 -11.0 1
* KQJ9 » 7432 P 0 20 1 4 ~ AQJ3 6SW6 1430 110 9
% ¢ VAN 4,A%%2 28S-1 50 -40 2 FOVAN , Q4
N ~~12~ vK842 N ~~~~~ v Q8
S ~~12~ ¢42 S ~~~~~ ¢ Q943
E 32~~~ &A85 E ~~~66 & K9765
W22~~~ W ~~~66
# 27 o AT92 4SN-150 Mean: 2SW-4 200 60 1 ||#28 s Q4 2SW3 140 Mean: 1NXN1 180 9.0 1
v 84 3NS-3150 -60  4DN4 130 50 1 v KQ2 2SW3 140 -220 3NW-2 100 80 1
+ AB763 Dif: -100 NS:-3 3SN3 140 50 1 ¢ AJ3 Dif: 0 NS:2 3NE-2 100 80 1
&T5 IMP: -3 EW:0 3CE-1 50 30 1 & QJT76 IMP: 0 EW:-2 2SE2 110 3.0 1
& J7653 ad 5DN-1 50 00 1||a75 a AKJ32 1NN-1 100 3.0 1
v AJ5 v T732 4SN-1 50 0.0 2 ||e AT876 | v J53 3HW4 470 2.0 1
¢ KT9 *5 3NS-1 50 0.0 1 ||e KQ62 ¢ 85 2SW3 140 20 2
& Q2 » AJ87643 3NN-1 50 0.0 1 ||a 43 » AK2 2SE3 140 20 2
% ¢ VAN ,KQ8 2NS-1 50 0.0 1 * ¢V AN ,T986 1NN-2 200 1.0 2
N ~4~21 v KQ6 3NS-2 100 10 1[N ~~~~~ v 94 3DS-3 300 20 1
S ~4~21 +QJ42 3NS-3 150 30 3 ||S ~~~~~ ¢ T974 4HW4 420 50 1
E 2~~~~ &K9 2NS-3 150 30 1||E ~~432 985 4HE4 420 50 2
W 2~~~n~ 3NS-4 200 -40 2 ||wW ~~432 2CXN-2  -500 -7.0 1
4SXN-2 300 6.0 1 2SXN-4  -1100 -13.0 1
# 29 4 A32 4SN-1 100 Mean: 4SN4 620 11.0 3 ||# 30 & KT42 3DS4 -130 Mean: 4CXW-3 500 80 1
v AJ95 4SS-2200 60  3HXW-1 200 40 1 v KT7 4SS4 -420 170  4SS6 480 7.0 1
+ KQ3 Dif: -100 NS:-6 3SN4 170 3.0 1 + QJ9 Dif: 290 NS:6 4SN5 450 7.0 1
» KT8 IMP: -3 EW:4 2SN3 140 20 1 » QT8 IMP: 7 EW:1 4ss4 420 6.0 2
45 ] A JT8 3CE-1 100 1.0 1 ||as J87 53 4SN4 420 6.0 2
v KQ86432 oT 48S-1 100 -40 1 ||w A92 v J65 4DS4 130 1.0 1
+ J96 + ¢ A72 4SN-1 100 -40 8 ||e AT ¢ 874 3DS4 130 1.0 1
& Q4 » AJ9752 4SXS-1 200 -6.0 1 ||a AJ932 » K7654 2Ds4 130 1.0 2
% ¢ V&N 4 KQI764 48S-2 200 6.0 1 % ¢V AN 4 AQI 3CW-1 50 3.0 1
N ~2~32 97 N ~5451 v Q843 5DS-1 50 6.0 2
S ~2~32 ¢T854 S ~5451 ¢ K6532 3NN-2 4100 -7.0 3
E 2~2~~ £63 E1~~~~ & 4HS-3 150 -8.0 1
W2-~2~-~ W 1~~~~




X AN >\ ¢ —_—
6 113 EXF 2 ABERFL>B 2 ==> RO 6
1 +
#1: 4 JBH(88.47) #2: 18 JFF9(85.06) #3: 7 LLIZE(76.64)
1 6 NS: BE®E &858 EC) -29 9 NS: R<FR 58 /(F0) -3| VP:| 4.71 15.29| Total VP: 37.55 Rank:
EW: BEEGH BEYA(BEO) 3 EW: 8iil55 BRiEFR(BAC) 2 IMP:| 17 34 17
S — —
# 21 » Q7 1NN2 -120 Mean: 3CN5 150 4.0 1 [[# 22 s A 5CN5 -400 Mean: 5HXS5 650 11.0 1
v Q7 2HW3 140 10  4SE-2 100 3.0 1 v QT87 5CXN5 -550 100  5CXN6 650 11.0 2
+ AQ64 Dif: -260 NS:-4 4CN4 130 3.0 2 *2 Dif: 150 NS:10 5CXN5 550 100 2
& AK982 IMP: -6 EW:-3 3CS3 110 3.0 2 & AKJ8742 IMP: 4 EW:-7 5SXE-2 500 9.0 1
s KJ #» AT632 3CN4 130 3.0 2 ||a K982 & T76543 5CN6 420 8.0 1
v JT9632 v A5 1NN2 120 3.0 2 [|w J2 — v A93 5CN5 400 7.0 1
¢ JT93 | + K852 2SE-1 50 1.0 1 ||e AKJ954 ¢+ Q3 5SE-2 200 30 1
*J » Q7 2SE2 110 30 1 ||a3 » Q5 5SE-1 100 00 2
% ¢ VAN 49854 3DE4 130 -40 1 *eVAN ,QJ 4SE-1 100 00 1
N 3~~~2 9vK84 2HW3 140 -40 2 |IN 5~ 4 ~ ~ « K654 5HXS-1 100 -5.0 1
S 3 ~~~~ o7 2DW4 130 -40 1||S 5~4~~ ¢ T876 6CXN-2 300 9.0 1
E ~321~ &T6543 3NN-2 200 50 1||E ~4~4~ &T96 4SE4 620 120 1
W ~321~ 3HW4 470 50 1 ||W ~4 ~4 ~ 5SW5 650 -13.0 2
4SW5 650 -13.0 1
# 23 & A9765 3NW-1-100 Mean: 3NW-2 200 50 2 ||#24 » J43 3CS4 -130 Mean: 4CXN4 510 8.0 1
v K3 3NW3600 © 3NW-1 100 3.0 8 v KQ975 3CN3 -110 170 3NS4 430 6.0 1
+ K7532 Dif: -700 NS:-12 3NE-1 100 3.0 1 . Dif: 20 NS:-2 3NS3 400 6.0 3
&2 IMP: -12 EW:-3 3CW-1 100 3.0 1 & QJT62 IMP: -1 EW:1 2SS4 170 00 1
» KQ83 a 42 3CE-1 100 3.0 1 ||a AQ72 ~ 65 4CN4 130 1.0 1
v AJT2 + v 54 3cws 110 3.0 3 || J642 v T83 csa 130 40 1
+ A6 * QJ94 3NW3 600 -12.0 2 ||e ATS ¢ QJ943 3CN4 130 1.0 1
& 743 S » AKJ85 a A7 543 2HN3 140 1.0 1
S VAN \JT %o VAN 4 KT8 3CN3 110 20 3
N ~~~~~ v Q9876 N 3~~319vA 3DW-1 50 3.0 1
S ~~n~~~ oT8 S 3 ~~31 ¢ K7652 INW-1 50 3.0 2
E 2~~~2 &QT9 E ~1~~~ &K98 3NS-1 50 6.0 1
W 2~~~2 W ~1~~~ 3NN-1 50 6.0 1
# 25 s QJT4 2SS-150 Mean: 3SN3 140 2.0 1 [|# 26 s 72 5SW7 710 Mean: 7SW-1 100 140 1
v Q95 2SS-150 80  2SN3 140 20 2 v J9653 6SW6 1430 -880 6SW-1 100 140 2
+ A865 Dif: 0 NS:-4 2SS2 110 1.0 3 * AT7 Dif: -720 NS:-11 6NE-2 200 14.0 1
»T6 IMP: 0 EW:4 2SN2 110 1.0 4 » T82 IMP: -12 EW:-5 2DE-1 100 140 1
» K87 53 1SN2 110 1.0 3 ||a AKJT9863 a5 5SW7 710 50 2
v J763 v AT 1SN1 80 00 1 ||w Ad2 + v KT7 4swW7 710 50 1
¢ Q3 ¢ KJT97 1NS1 90 00 1||e8 + KJ652 6SW7 -1460 -11.0 1
* KQJ9 » 7432 P 0 20 1 4 ~ AQJ3 6SW6 1430 110 9
% ¢ VAN 4,A%%2 28S-1 50 -40 2 FOVAN , Q4
N ~~12~ ¢ K842 N ~~~~~ »Q8
S ~~12~ ¢42 S ~~~~~ ¢ Q943
E 32~~~ #A85 E ~~~66 &K9765
W22~~~ W ~~~66
# 27 o AT92 2NS-3 150 Mean: 2SW-4 200 60 1 ||#28 s Q4 3DS-3 300 Mean: 1NXN1 180 9.0 1
v 84 3CE-1-50 -60 4DN4 130 50 1 v KQ2 4HW4 420 -220  3NW-2 100 80 1
+ AB763 Dif: 200 NS:3 3SN3 140 50 1 ¢ AJ3 Dif: -120 NS:-5 3NE-2 100 80 1
&T5 IMP: 5 EW:3 3CE-1 50 30 1 & QJT76 IMP: -3 EW:2 2SE2 110 3.0 1
& J7653 ad 5DN-1 50 00 1||a75 a AKJ32 1NN-1 100 3.0 1
v AJ5 v T732 4SN-1 50 0.0 2 ||e AT876 | v J53 3HW4 470 2.0 1
¢ KT9 *5 3NS-1 50 0.0 1 ||e KQ62 ¢ 85 2SW3 140 20 2
& Q2 » AJ87643 3NN-1 50 0.0 1 ||a 43 » AK2 2SE3 140 20 2
% ¢ VAN ,KQ8 2NS-1 50 0.0 1 * ¢V AN ,T986 1NN-2 200 1.0 2
N ~4~21 v KQ6 3NS-2 100 10 1[N ~~~~~ v 94 3DS-3 300 20 1
S ~4~21 +QJ42 3NS-3 150 30 3 ||S ~~~~~ ¢ T974 4HW4 420 50 1
E 2~~~~ &K9 2NS-3 150 30 1||E ~~432 985 4HE4 420 50 2
W 2~~~n~ 3NS-4 200 -40 2 ||wW ~~432 2CXN-2  -500 -7.0 1
4SXN-2 300 6.0 1 2SXN-4  -1100 -13.0 1
# 29 4 A32 4SN-1 100 Mean: 4SN4 620 11.0 3 ||# 30 & KT42 3NN-2 100 Mean: 4CXW-3 500 80 1
v AJ95 2SN3 -140 60  3HXW-1 200 40 1 v KT7 5DS-150 170  4SSé 480 7.0 1
+ KQ3 Dif: 240 NS:2 3SN4 170 3.0 1 + QJ9 Dif: 50 NS:-6 4SN5 450 7.0 1
» KT8 IMP: 6 EW:4 2SN3 140 20 1 » QT8 IMP: 2 EW:7 4Ss4 420 6.0 2
45 ] A JT8 3CE-1 100 1.0 1 ||as J87 53 4SN4 420 6.0 2
v KQ86432 oT 48S-1 100 -40 1 ||w A92 v J65 4DS4 130 1.0 1
+ J96 + ¢ A72 4SN-1 100 -40 8 ||e AT ¢ 874 3DS4 130 1.0 1
& Q4 » AJ9752 4SXS-1 200 -6.0 1 ||a AJ932 » K7654 2Ds4 130 1.0 2
% ¢ V&N 4 KQI764 48S-2 200 6.0 1 % ¢V AN 4 AQI 3CW-1 50 3.0 1
N ~2~32 97 N ~5451 v Q843 5DS-1 50 6.0 2
S ~2~32 ¢T854 S ~5451 ¢ K6532 3NN-2 4100 -7.0 3
E 2~2~~ £63 E1~~~~ & 4HS-3 150 -8.0 1
W2-~2~-~ W 1~~~~




S ' AN jrir- _ 6
6 113&; < ¢ &Wﬁﬁm% e ==> R6
1 7 NS: BRZERE ﬁ[ﬁﬁ(ﬁﬁ@ -6 13 NS: Tﬁis Eﬂf&(ﬁﬁO) -11 VP:| 15.75 : 4.25 Total VP: 64.79 Rank:
EW: 228230 #E5HEF0) 11 EW: B#3{E Z2E(BAC) 6 IMP:| 48 29 7
S — — o
# 21 » Q7 3NN-2 200 Mean: 3CN5 150 4.0 1 [[# 22 s A 4SE-1 -100 Mean: 5HXS5 650 11.0 1
v Q7 2DW4 130 10  4SE-2 100 3.0 1 v QT87 5CXN5 -550 100  5CXN6 650 11.0 2
+ AQ64 Dif: 70 NS:-4 4CN4 130 3.0 2 *2 Dif: 450 NS:10 5CXN5 550 100 2
& AK982 IMP: 2 EW:5 3CS3 110 3.0 2 & AKJ8742 IMP: 10 EW:0 5SXE-2 500 9.0 1
s KJ #» AT632 3CN4 130 3.0 2 ||a K982 & T76543 5CN6 420 8.0 1
v JT9632 v A5 1NN2 120 3.0 2 [|w J2 — v A93 5CN5 400 7.0 1
¢ JT93 | + K852 2SE-1 50 1.0 1 ||e AKJ954 ¢+ Q3 5SE-2 200 30 1
*J » Q7 2SE2 110 30 1 ||a3 » Q5 5SE-1 100 00 2
% ¢ VAN 49854 3DE4 130 -40 1 *eVAN ,QJ 4SE-1 100 00 1
N 3~~~2 9vK84 2HW3 140 -40 2 |IN 5~ 4 ~ ~ « K654 5HXS-1 100 -5.0 1
S 3 ~~~~ o7 2DW4 130 -40 1||S 5~4~~ ¢ T876 6CXN-2 300 9.0 1
E ~321~ &T6543 3NN-2 200 50 1||E ~4~4~ &T96 4SE4 620 120 1
W ~321~ 3HW4 470 50 1 ||W ~4 ~4 ~ 5SW5 650 -13.0 2
4SW5 650 -13.0 1
# 23 & A9765 3CW3 110 Mean: 3NW-2 200 50 2 ||#24 » J43 3NN-1 50 Mean: 4CXN4 510 8.0 1
v K3 3NW-2-200 o 3NW-1 100 3.0 8 v KQ975 3CN3 -110 170 3NS4 430 6.0 1
+ K7532 Dif: 310 NS:5 3NE-1 100 3.0 1 . Dif: 160 NS:-2 3NS3 400 6.0 3
&2 IMP: 7 EW:3 3CW-1 100 3.0 1 & QJT62 IMP: 4 EW:6 2SS4 170 00 1
» KQ83 a 42 3CE-1 100 3.0 1 ||a AQ72 ~ 65 4CN4 130 1.0 1
v AJT2 + v 54 3cws 110 3.0 3 || J642 v 783 csa 130 40 1
+ A6 * QJ94 3NW3 600 -12.0 2 ||e ATS ¢ QJ943 3CN4 130 1.0 1
& 743 S » AKJ85 a A7 543 2HN3 140 1.0 1
S VAN \JT %o VAN 4 KT8 3CN3 110 20 3
N ~~~~~ v Q9876 N 3~~319vA 3DW-1 50 3.0 1
S ~~n~~~ oT8 S 3 ~~31 ¢ K7652 INW-1 50 3.0 2
E 2~~~2 &QT9 E ~1~~~ &K98 3NS-1 50 6.0 1
W 2~~~2 W ~1~~~ 3NN-1 50 6.0 1
# 25 s QJT4 2SN2 -110 Mean: 3SN3 140 2.0 1 [|# 26 s 72 6SW-1-100 Mean: 7SW-1 100 140 1
v Q95 2SS2-110 80  2SN3 140 20 2 v J9653 6SW6 1430 -880 6SW-1 100 140 2
+ A865 Dif: 0 NS:1 2SS2 110 1.0 3 * AT7 Dif: -1530 NS:-11 6NE-2 200 14.0 1
»T6 IMP: 0 EW:-1 2SN2 110 1.0 4 » T82 IMP: -17 EW:-14 2DE-1 100 140 1
» K87 53 1SN2 110 1.0 3 ||a AKJT9863 a5 5SW7 710 50 2
v J763 v AT 1SN1 80 00 1 ||w Ad2 + v KT7 4swW7 710 50 1
¢ Q3 ¢ KJT97 1NS1 90 00 1||e8 + KJ652 6SW7 -1460 -11.0 1
* KQJ9 » 7432 P 0 20 1 4 ~ AQJ3 6SW6 -1430 -11.0 9
% ¢ VAN 4,A%%2 28S-1 50 -40 2 FOVAN , Q4
N ~~12~ ¢ K842 N ~~~~~ »Q8
S ~~12~ ¢42 S ~~~~~ ¢ Q943
E 32~~~ &A85 E ~~~66 & K9765
W22~~~ W ~~~66
# 27 o AT92 3NS-3150 Mean: 2SW-4 200 60 1 ||#28 s Q4 2SXN-4 1100 Mean: 1NXN1 180 9.0 1
v 84 3SN3 -140 -60  4DN4 130 50 1 v KQ2 4HE4 420 -220  3NW-2 100 80 1
+ AB763 Dif: 290 NS:5 3SN3 140 50 1 ¢ AJ3 Dif: 680 NS:-5 3NE-2 100 80 1
&T5 IMP: 7 EW:3 3CE-1 50 30 1 & QJT76 IMP: 12 EW:13 2SE2 110 3.0 1
& J7653 ad 5DN-1 50 00 1||a75 a AKJ32 1NN-1 100 3.0 1
v AJ5 v T732 4SN-1 50 0.0 2 ||e AT876 | v J53 3HW4 470 2.0 1
¢ KT9 *5 3NS-1 50 0.0 1 ||e KQ62 ¢ 85 2SW3 140 20 2
& Q2 » AJ87643 3NN-1 50 0.0 1 ||as 43 » AK2 2SE3 140 20 2
% ¢ VAN ,KQ8 2NS-1 50 0.0 1 * ¢V AN ,T986 1NN-2 200 1.0 2
N ~4~21 v KQ6 3NS-2 100 10 1[N ~~~~~ v 94 3DS-3 300 20 1
S ~4~21 +QJ42 3NS-3 150 30 3 ||S ~~~~~ ¢ T974 4HW4 420 50 1
E 2~~~~ &K9 2NS-3 150 30 1||E ~~432 985 4HE4 420 50 2
W 2~~~n~ 3NS-4 200 -40 2 ||wW ~~432 2CXN-2  -500 -7.0 1
4SXN-2 300 6.0 1 2SXN-4  -1100 -13.0 1
# 29 4 A32 4SN4 -620 Mean: 4SN4 620 11.0 3 ||# 30 & KT42 3NN-2 100 Mean: 4CXW-3 500 80 1
v AJ95 4SN-1100 60  3HXW-1 200 40 1 v KT7 2DS4 -130 170  4SS6 480 7.0 1
+ KQ3 Dif: -720 NS:-4 3SN4 170 3.0 1 + QJ9 Dif: 230 NS:-1 4SN5 450 7.0 1
» KT8 IMP: -12 EW:-11 2SN3 140 20 1 » QT8 IMP: 6 EW:7 4Ss4 420 6.0 2
45 ] A JT8 3CE-1 100 1.0 1 ||as J87 53 4SN4 420 6.0 2
v KQ86432 oT 48S-1 100 -40 1 ||w A92 v J65 4DS4 130 1.0 1
+ J96 + ¢ A72 4SN-1 100 -40 8 ||e AT ¢ 874 3DS4 130 1.0 1
& Q4 » AJ9752 4SXS-1 200 -6.0 1 ||a AJ932 » K7654 2Ds4 130 1.0 2
% ¢ V&N 4 KQI764 48S-2 200 6.0 1 % ¢V AN 4 AQI 3CW-1 50 3.0 1
N ~2~32 97 N ~5451 v Q843 5DS-1 50 6.0 2
S ~2~32 ¢T854 S ~5451 ¢ K6532 3NN-2 4100 -7.0 3
E 2~2~~ £63 E1~~~~ & 4HS-3 150 -8.0 1
W2-~2~-~ W 1~~~~




X AN >\ ¢ —_—
6 113 EXF 2 ABERFL>B 2 ==> RO 6
1 +
#1: 4 JBH(88.47) #2: 18 JFF9(85.06) #3: 7 LLIZE(76.64)
1 8 NS: #5145 BREATEAC) 3 4 NS: ##8 RigT(FH0) 5 VP:| 9.61 10.39| Total VP: 85.06 Rank:
EW: R854 o[ ZE(BFO) -5 EW: EEM JLTIEPBAC) -3 IMP:| 28 29 2
S — —
# 21 » Q7 3CS3 -110 Mean: 3CN5 150 4.0 1 [[# 22 s A 5CXN6 -650 Mean: 5HXS5 650 11.0 1
v Q7 3CN5-150 10  4SE-2 100 3.0 1 v QT87 5SW5 650 100  5CXN6 650 11.0 2
+ AQ64 Dif: 40 NS:4 4CN4 130 3.0 2 *2 Dif: 1300 NS:-13 5CXN5 550 100 2
& AK982 IMP: 1 EW:-3 3CS3 110 3.0 2 & AKJ8742 IMP: -16 EW:-11 5SXE-2 500 9.0 1
s KJ #» AT632 3CN4 130 3.0 2 ||a K982 & T76543 5CN6 420 8.0 1
v JT9632 v A5 1NN2 120 3.0 2 [|w J2 — v A93 5CN5 400 7.0 1
¢ JT93 | + K852 2SE-1 50 1.0 1 ||e AKJ954 ¢+ Q3 5SE-2 200 30 1
*J » Q7 2SE2 110 30 1 ||a3 » Q5 5SE-1 100 00 2
% ¢ VAN 49854 3DE4 130 -40 1 *eVAN ,QJ 4SE-1 100 00 1
N 3~~~2 9vK84 2HW3 140 -40 2 |IN 5~ 4 ~ ~ « K654 5HXS-1 100 -5.0 1
S 3 ~~~~ o7 2DW4 130 -40 1||S 5~4~~ ¢ T876 6CXN-2 300 9.0 1
E ~321~ &T6543 3NN-2 200 50 1||E ~4~4~ &T96 4SE4 620 120 1
W ~321~ 3HW4 470 50 1 ||W ~4 ~4 ~ 5SW5 650 -13.0 2
4SW5 650 -13.0 1
# 23 & A9765 3CE-1-100 Mean: 3NW-2 200 50 2 ||#24 » J43 3NS4 -430 Mean: 4CXN4 510 8.0 1
v K3 3CW3110 o0 3NW-1 100 3.0 8 v KQ975 3NS3 -400 170  3NS4 430 6.0 1
+ K7532 Dif: -210 NS:-3 3NE-1 100 3.0 1 . Dif: -30 NS:6 3NS3 400 6.0 3
&2 IMP: -5 EW:-3 3CW-1 100 3.0 1 & QJT62 IMP: -1 EW:-6 2SS4 170 00 1
» KQ83 a 42 3CE-1 100 3.0 1 ||a AQ72 ~ 65 4CN4 130 1.0 1
v AJT2 + v 54 3cws 110 3.0 3 || J642 v T83 csa 130 40 1
+ A6 * QJ94 3NW3 600 -12.0 2 ||e ATS ¢ QJ943 3CN4 130 1.0 1
& 743 S » AKJ85 a A7 543 2HN3 140 1.0 1
S VAN \JT %o VAN 4 KT8 3CN3 110 20 3
N ~~~~~ v Q9876 N 3~~319vA 3DW-1 50 3.0 1
S ~~n~~~ oT8 S 3 ~~31 ¢ K7652 INW-1 50 3.0 2
E 2~~~2 &QT9 E ~1~~~ &K98 3NS-1 50 6.0 1
W 2~~~2 W ~1~~~ 3NN-1 50 6.0 1
# 25 s QJT4 2SS2 -110 Mean: 3SN3 140 2.0 1 [|# 26 s 72 6SW6 1430 Mean: 7SW-1 100 140 1
v Q95 1SN2-110 80  2SN3 140 20 2 v J9653 6SW-1-100 -880 6SW-1 100 140 2
+ A865 Dif: 0 NS:1 2SS2 110 1.0 3 * AT7 Dif: 1530 NS:14 6NE-2 200 14.0 1
»T6 IMP: 0 EW:-1 2SN2 110 1.0 4 » T82 IMP: 17 EW:11 2DE-1 100 140 1
» K87 53 1SN2 110 1.0 3 ||a AKJT9863 a5 5SW7 710 50 2
v J763 v AT 1SN1 80 00 1 ||w Ad2 + v KT7 4swW7 710 50 1
¢ Q3 ¢ KJT97 1NS1 90 00 1||e8 + KJ652 6SW7 -1460 -11.0 1
* KQJ9 » 7432 P 0 20 1 4 ~ AQJ3 6SW6 1430 110 9
% ¢ VAN 4,A%%2 28S-1 50 -40 2 FeVAN o, QF
N ~~12 ~ ¢ K842 N ~~~~~ »Q8
S ~~12~ ¢42 S ~~~~~ ¢ Q943
E 32~~~ &A85 E ~~~66 & K9765
W22~~~ W ~~~66
# 27 o AT92 3NS-4 200 Mean: 2SW-4 200 60 1 ||#28 s Q4 3NE-2 -100 Mean: 1NXN1 180 9.0 1
v 84 3NS-3150 -60  4DN4 130 50 1 v KQ2 3HW4 170 -220  3NW-2 100 80 1
+ AB763 Dif: 50 NS:-3 3SN3 140 50 1 ¢ AJ3 Dif: -270 NS:2 3NE-2 100 80 1
&T5 IMP: 2 EW:4 3CE-1 50 30 1 & QJT76 IMP: -7 EW:-8 2SE2 110 3.0 1
& J7653 ad 5DN-1 50 00 1||a75 a AKJ32 1NN-1 100 3.0 1
v AJ5 v T732 4SN-1 50 0.0 2 ||e AT876 | v J53 3HW4 470 2.0 1
¢ KT9 *5 3NS-1 50 0.0 1 ||e KQ62 ¢ 85 2SW3 140 20 2
& Q2 » AJ87643 3NN-1 50 0.0 1 ||a 43 » AK2 2SE3 140 20 2
% ¢ VAN ,KQ8 2NS-1 50 0.0 1 * ¢V AN ,T986 1NN-2 200 1.0 2
N ~4~21 v KQ6 3NS-2 100 10 1[N ~~~~~ v 94 3DS-3 300 20 1
S ~4~21 +QJ42 3NS-3 150 30 3 ||S ~~~~~ ¢ T974 4HW4 420 50 1
E 2~~~~ &K9 2NS-3 150 30 1||E ~~432 985 4HE4 420 50 2
W 2~~~n~ 3NS-4 200 -40 2 ||wW ~~432 2CXN-2  -500 -7.0 1
4SXN-2 300 6.0 1 2SXN-4  -1100 -13.0 1
# 29 4 A32 4SXS-1 200 Mean: 4SN4 620 11.0 3 ||# 30 & KT42 5DS-150 Mean: 4CXW-3 500 80 1
v AJ95 4SN-1100 60  3HXW-1 200 40 1 v KT7 2DS4 -130 170  4SS6 480 7.0 1
+ KQ3 Dif: 100 NS:-4 3SN4 170 3.0 1 + QJ9 Dif: 180 NS:-1 4SN5 450 7.0 1
» KT8 IMP: 3 EW:6 2SN3 140 20 1 » QT8 IMP: 5 EW:6 4SS4 420 6.0 2
45 ] A JT8 3CE-1 100 1.0 1 ||as J87 53 4SN4 420 6.0 2
v KQ86432 oT 48S-1 100 -40 1 ||w A92 v J65 4DS4 130 1.0 1
+ J96 + ¢ A72 4SN-1 100 -40 8 ||e AT ¢ 874 3DS4 130 1.0 1
& Q4 » AJ9752 4SXS-1 200 -6.0 1 ||a AJ932 » K7654 2Ds4 130 1.0 2
% ¢ V&N 4 KQI764 48S-2 200 6.0 1 % ¢V AN 4 AQI 3CW-1 50 3.0 1
N ~2~32 97 N ~5451 v Q843 5DS-1 50 6.0 2
S ~2~32 ¢T854 S ~5451 ¢ K6532 3NN-2 4100 -7.0 3
E 2~2~~ £63 E1~~~~ & 4HS-3 150 -8.0 1
W2-~2~-~ W 1~~~~




